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Lecture 1

What is Grammar? Grammar is defined as the rules that say how words are combined
,arranged and changed to show different meanings.

The largest unit of Grammar is sentence ..

Alaall & il sas g 5STy | adline e jledaY LKl aplaii 48y sk a5 Al Clac ) de gana s sl

. Al Ly

Teacher, Student, Question, Asked

Jia alans Wgiebua s Leati i die VI Ll aany e 0585 Y (gl L mall e 4dla IS 0 jae o

The Teacher asked the Student A Question.
el L i ey e Ll ) S L Ledie | () alldall Jls sl

The Student asked the Teacher A Question.
s bl Jhos QI | il sl (5 AT 4y sy Waliss ) Lot

Sentences:- Jeal)

A sentence is a group of words that expresses a statement, Question, Command,
exclamation..

A sentence is consist of one or more clause and usually has at least one subject and one
verb

Jeld g anly Jad L 5K alall 8 5 ST 5l 8aa) 5 Alea (e () 5S55 Alaal
Types of sentences: - Jaall 1 sl
1]- Statement :- 4leal)
Is a sentence which gives information's { declarative}
P dle {4 sl fales eniy daglaa Jaad il ALl s
Sam is studying .. JSI alu
We can make the statement ether affirmative or negative.

Aadie dpny peai alen sl dung peat Alea dpny peail Aleal) 0S5 () (S
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Beck went to New York last summer. = affirmative= 4id
Beck didn’t went to New York last summer. = negative = 4
| am writing my home work now. = affirmative = 4%
| am not writing my home work now. = negative = 4:tia
2]- Questions: - J! s
Is a sentence which asks for information's or make requests { interrogative }
Lellia { Aaledivd alan} anis calh Jhd 5l daslaa e Jhd 3 dlaall o
Is Sam study ? = question - J! s
Can | study with Sam? = request-—lk
3]- Command : -
Is a sentence which gives an order or makes suggestion { imperative}
Lellia 5 {aY) dpa} caniis ) 81 0385 ) al aad Al Alaall o4
Go study = order- >l
Be careful = order — «l
4]- exclamation: - caaadll
A sentence which is used to express the speakers feeling or attitude.
I Gaaad Aadle Wany (il o 1 conatl) dapa iy | oaaitdll gl ol jelie ria i Sl dlaall o

What a lovely Day! — sl 13gd 4dia 5 5 Eaaaiall = 58 (60 a5 Tdaen a0 (e 41l

Wooow | | loved your house - 1l addll Clae) (530 gua i | elin cunal a8l 1

Amazing! - &)

Exercise
Identify the type of each of the following sentences.
a. statement b. question ¢. command d. exclamation

1.How often do you come here? B
2.How interesting this article is! =-D

3.Hurry up before the train’s departure! =C
4.How interesting is this article?= -B

5.This article is very interesting. =A
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Sentences :- Jaal

aMMjcMS)acma@‘;\eaﬁﬁM\
Simple, Compound and Complex Sentences:
1. Simple: The man is here. —4aual 55 g ) 5Si g Adagusy

2. Compund: The man is here, and he wants to see you.

{But, and, or,so} Ll & sl Jeldle (5 gini s ¢ Alaliy 4 poade (pilan (o (555 5 408 e

3. Complex: The man that wants to see you is here.
Jsenn 5l asbaall ise (3585 56 L 4 Jsniall 5 Jadll s Jeldll casi 5 Cilidy Cumy sina LewsS 5 (35S B3ne dlaa

Verbs:- J=dY)

The verb is the central unit (nucleus) of an English sentence.

Verbs can refer to actions, e.g. run, walk and talk, or states, e.g. want, have and be.

0= n ¢ e JSh aaal) JLadY) a5 A8 s Jadl e 8 e OS5, Alaa) (B 43S all Bas sl o8 JladYi

Gl ) Gaalll 335 501 Gl gadl 51 GunadaW) 53 SI caadl de )1 Calal gall L g adladl o Jledl ol

Main vs. Helping Verbs:- 2l Jadll 5 ulul) Jadll

Each English sentence has a main verb.
caclie Jad g sini Alaa JS oY e oS¢ sl Jad g (s 5ind O any 4 alal Alea (S
e.g. Mohammed walked home.
ey s 5 pdal g bl dlaall 8 Jadll
e.g. Khaled is happy.

aalll by . €l Jla oS aclie Jud adl Jsihy s acbusall Jedll sa dleall 538 3 ) Jadll
Diny ealaall (B ol Jad agile OIS W L Aasla dles 685 Glie dlaa IS (ol a8 (g 5ind 0 5Y 4 3alaiY)
Jad js graal AN Slal ol Jad Leile Alaall 5 sl Jadjs Jofi Jaiile (¥ | oubad) Lelad aolual) Jadl)
L el

Some sentences also require one or more helping verbs (auxiliary verbs).

el daa 0S5 QL Jaall (538 g dlaall Gty aclise J28 5 Al culal J28 2 5a 5 allali Jaall ans
dh__{ing+¢uu\dzé+mhudx§+dcté} o peiacld 5 SN M\ww\}tjw\

He is coming to the meeting.
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He could come here soon.

Helping verbs (auxiliaries) include:

sl i Ll daall S Jla 3 4l Jladl yiad 38 Lgagan 5 L 230D JledY) Cpacati 3ac Lisall JladY|

1. be (is, am, are, was, were) s<iwall alall 5§ il pa paaind Al Jedd) 4
2. have, has, had dleally 2 55 a1 13} aelisall Jlad¥) Jae dad ) JladY1 o8

3. do, does, did dleall aa 55 Al 131 saclusal) Jlad) Jae das Al JxdY) 4

4. Modal auxiliaries: can, could, shall, should, will, would, may, might.. etc.

0585 Jaaitise Jxd¥) 32 5 &) ol acUain ol dala a8 JladY) 338 Ao g el JladY1 iy 31 sall Jledl
o any s Jed 2 Uiad Ll Jages conad S0 Ales b alil JaiS

Exercise

Identify whether the underlined verb is the main verb or the helping verb of each sentence
below.

a. main verb b. helping verb

1.Students like fast food.= A

2.He has enough money for the trip.= A

3.Khaled does not want to go to school today.= B

4.He is helping me wash the dishes.= B

5.He will arrive shortly.= B

Transitivity: - faaxid) J=dly)

Verbs are divided into two groups based on transitivity:
Adade g gandll Cua (e Cpand AN L8 s
1. Intransitive verbs are verbs that require no objects.
cAadgie oo @it Y Al JdY) s agaeie pall J8Y) -()
e.g. Birds fly. The man spoke.
2. Transitive Verbs are verbs that require objects. This group can be further divided into:
LV ity 4y Jsmie Ui I JladY) s asiall Jlady) (Y

A. Monotransitive verbs are verbs that require only one object:
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il a5 Jadh aal g 4 Jsade allaii ) agasial) Jud¥) s (]
e.g. Khaled broke the window.
B. Ditransitive verbs are verbs that require two objects.
aale il s AV 5ol il Lanaale 4 Jgmie (o ST bt Laaial) JLadY) ~(0
e.g. Saleh gave Majid a pen.

Exercise
Decide whether the underlined verbs are:
a. intransitive b. monotransitive c. ditransitive
1.The student needs a pen.= B
2.Ali told his friend a joke.= C
3.Students study. =A
4.Students study books.= B
Note: Some verbs can be either intransitive or transitive.

Direct vs. Indirect Objects: - yila pall § Hdluadl 40 J g284l)

As we saw in the previous section, ditransitive verbs take two objects. One of these objects
is called a directs object and the other one is called an indirect object.

e e AV 5 pdle Leasal il gaie 45 OIS ) JUall 8 Ll LS
The indirect object comes first followed by the direct object in this example:
el 4y Jgrall angiy Vsl b sl sl 4y Jgial
e.g. He gave me a book.

Con jaad S |l e AY) 5 e Lasaal 4y (ol sade 4 agilull aleall

& O ¢ alaka ¢ dlaa Jia e 8" ()5S Bale ilaall 4y 4l gaiall Y

LG sl el da,ll e el s Ul Gadidisale o) jdlie sl 44 Jsedall Ll
LS g bl 4y J sl 13
He asked the man a question.
. Al e 4c g the man s ¢ 4l daall 8 4y J gadal) (18
The indirect object is often equivalent to a prepositional phrase with “to” or “for”.

e.g. He gave a book to me.
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C ASTY L alaadl a3 8 LA ST, aalll aleadly A i U alie ) GUSH i) 4y ) gadall

He gave me a book.

He bought a gift for his son.

coslial) (uSay ga Coa Al daad o ey saldl Cigoa i callally il adl 4 J gaiall

ads dadll gl Gapel S | agle aly A o i) g8 4y Jprdadl €Y 5l 4y g Alaall 813 Ga el oS Gk
$oe ol €13k Jlusl adalisny | Y ol Jsmiall 138 e

Jla
| watched Television .
il 4y Jmiall pa ¢y s 3131 (0 34D € Canals 1L
| called Sam.
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Lecture 2
What is a phrase? A phrase is defined as two or more words that function together as a
group. 4 N
vl ge sl Jad g jlaall o a5 Jlall | A gana (oS5 STl pal€ Ll Caas 13 laal)
_(';.uz\ 4.5:5}45.\4 g\d}m__ c\.lj.u:\ﬁdln

¢ lanass CaS g3 bl o L 1)

dim) (5Sis " Aleall agilonl LS 3 jae " 5 jal) (K1 A Al gaia 5 Jeld 5 Jab (e 0 sSE Alead) o Gy Y
O3S S Bl Lty (sime 35 Lo L3y b Alaal a0 585 8 bal) L (L0 sl edpnalds e slea
dm@mlu@\ydau@uy‘ﬁ\caaﬂjdﬂuuﬁ (Jad ;.‘_,’_m J\u.ai.ﬁ:?m\:dc\é

e.g. The old man walked down the street.
AL lind g dualls alaa + Jall Jla e ST Qi lithae T LY |3 e e L L Gl Ja

There are a number of phrase types in English including: noun phrases, verb phrases,
adjective phrases, adverbial phrases and prepositional phrases.
Each phrase has a head and one or more modifiers.

il ol jlally Al il jle 5 Jadll @l el Gpand 3l Leie GElaY) 8l jleall s 58S o) il g
Ao ,mdl ey
2380 (ga STy aal g oailil ) sna L 5 ke JS
The Noun Phrase  4saw¥l 3 jlall
The Noun Phrase (NP)
A noun phrase (often abbreviated to NP) is a convenient term for any of the following:
o4l lallaiadll e gl g NP 2 Wl e 0 4senY) 5 lall

1. A Noun Y
e.g. Ahmed, students

2. A Nominal Group _ 4wew) dlaall
e.g. a blue pen, the students

Jad e (s sind ¥ L and 5 on Cioa sl i sl e 0 5SE Al Aleall o8 4] Aleal)
Each nominal group has a head and one or more modifiers.
Modifiers add to, change or limit the meaning of the head in a phrase. The head is the word
that determines the type of the phrase.

230 o ST g Ban) 5 At ) Al e, apand dea S
.M\t}bﬁﬂﬁ;ﬂb@@)ﬂ%\}\t}bﬂ\)ime\JM\@MJJ&TEJTMQMJM‘

For example, the word “pen” is a noun that can refer to any kind of pens. When we modify it
as in the previous example “a blue pen”, we limit the noun so that it can only refer to a
specific kind of pens.

Some other examples: Ahmed’s desk, a book store, the student

325 2BV (e (e 5 2 el il |30 AW L g Linaa Ll ST 3 m ga ol (g o 2 ga | o8 Al Sl
enald il o aladl (5, 590 alall O a5, s damall g alall & Ayl Adadall 1) Lasd (5, 530 alal)
20na e ST L aal g g gemge ol A ) Aadi Ll

) (i€ e ? deaf Al | (g Al AL
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3. A Pronoun _ sl

A pronoun is a type of “pro-forms” which are defined as forms used instead of other forms.

Instead of using the nominal group “the old man” we can use the pronoun “he”. Pronouns

include:

Slie sl a1 Ja he seall i) Jie | o5 dae oo pladial s Gl 5 "a )b 5 0" (e g i oa el
aalll) yilaall Jaidis g

a. Personal Pronouns; 4xasdill yilacall

- Subject Pronouns: I, you, he, she, it, we, they  Jell laa

- Object Pronouns: me, you, her, him, it, us, them 4 J sl ylaca

- Possessive Pronouns: mine, yours, hers, his, its, ours, theirs_ 4kl e

b. Reflexive Pronouns: myself, yourself, himself, itself  agudi (alalDU 2 e || 4pulSail jilaca
c. Indefinite Pronouns: everyone, someone, something_ .. 33w juall ylazall

4. A Pronominal Group_4 neall 4c el

e.g. we all, everyone in our class

In a pronominal group, a pronoun is the head. The pronouns “we” and “everyone” in the
previous examples are the heads of the pronominal groups.

bl saall 8 preall 5 &) aes ¢ IS Jie AT AS 4 e Ge o jlie (o 40 panall 4 genl

Exercise

Identify the type of the underlined NP.

a. noun b. nominal group c. pronoun d. pronominal group
1.The children went to bed late.= -b

2.1 made this cake myself. =c

3.Ahmed owns an expensive car. =b

4.Khaled bought a book. =a

5.The book is his. =c

6.Someone in our office forgot to lock the door. =d

Nouns_slew!

Nouns can be divided to:

1. Proper Nouns:_ 43 yall slaws¥)

e.g. Ahmed, Al-Ahsa ..z alac clua¥lc s

A proper noun is the name of someone or something that is usually imagined to be unique.
Cme (S 5l e (ot ol 5 1 g peall 2V

2. Common Nouns; _ 4=3Lall elew)
e.g. friend, desk, bird, air = &.. 4 x ¢ ¢l sa ¢ Alglda ¢ Gua
A common noun is a name given either to an example of a class or to the class as a whole.
L ale IS JSS Al o e o/ (i and o (3l a8 clan) A 140l clawY)

2aa| $A g Ay (el 3 gt (e dalS Ul JUL) 8
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“Friend” refers to one example of a class in the following sentence:
e.g. 1. Ahmed is a good friend.
it Ll JULall Caa, Ui dale g3 13) | dunigadyei Gadd gl o 3l gina 4alS: JUA 138 & (S
"a generic noun_ ale aul "
“Friend” refers to the class as a whole in the following sentence:
e.g. 2. A friend is somebody we like and know well.
“Friend” in example 2 is called a generic noun.

Exercise
Identify whether the underlined noun is:
a. a common noun (example of a class)
b. a common noun (generic)
C. a proper noun
C")m(”‘“\ ce\.ceu\‘éweu\: w\&yah
1. Mohammed gave me a pen. .= a common noun (example of a class)
2. A pen is an instrument used for writing.= a common noun (generic)
3. Khaled’s car is new. .= a common noun (example of a class)
4. Khaled has a new car. .= a proper noun
5. Fruit is good for you. .= a common noun(generic)

Common nouns are usually found in nominal groups to help the speaker say which particular
example of a class he has in mind.

LA 8y Le paatl Giaadiall Bae bl Apen) dlaadl A Lle a0a00 ;4230 elaY)

The <y =il 3ld QU (5 Gl g i Ua Lin 3 guadall | alaall (5 ity 3l ;U JU) 8

LAia Cay el 310 Y | me alae (e SIS alaall 43yl gty Ol Caaaa
e.g. 1. The students were waiting for the teacher.
e.g. 2. The teacher’s desk is new.
‘d}t.k‘_si MJM\M}LEGAJQJJM‘UJLE J.AASJ LA\:\M J\Ld\ L_'-;AJ

Proper nouns will not normally be modified this way. In other words, modification differs
between a common noun and a proper noun.
o (o aal Sl Lgaa 20300 L ey 4S yihal) elaw) 2aad 48y Hla iy Lanaat S0Y 3alall 8 cdsy pall clewd)

Proper and common nouns (as well as pronouns) can refer to something animate or
inanimate.

Saa ol L oa el () agai jilecallS caailial) clan) 5 4sy puall sl
a. Animate_ -~
Animate nouns refer to a person or animal.
e.g. Ahmed, friend, bird

Dl (aa ¢ daal | Jie L ol sl s Gl (L dualy ¢ 13 s23) 4pall clanY)
b. Inanimate _ sles
Inanimate nouns refer to a place, thing or an idea.

e.g. Al-Ahsa, desk, air, freedom
agnll col gl gl clua) Jia | 5 )S8 cdlaa sf (S (Lgr daltye J 2 52) Slaadl olan)
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Count vs. Mass Nouns _ 33 s3xe y&ll o5 sazall elau¥)
Nouns can either be countable (count nouns) or uncountable (mass nouns).
.(Mass NoUNS)sasixe s sl (COUNE NOUNS) 83 5320 & 585 Ol (Say e LanY)
Count nouns such as “friend” and “man” can be preceded by “one” and may have a plural
form such as “friends” and “men” which can be preceded by a number higher than one, e.g.
“two friends” and “ten men”.
Vo ala day Jsii s aeal) 5ol Y1 s A elan) o8 "da )" 5 "l Jia ;8 ganal) cland
A dE ey | Jls

Mass nouns such as “bread” and “milk™ cannot be preceded by “one” and do not have a
plural form.
&), seladl 5 Jilsad) Jia | geall Jisi Y ) slawd) o ladie (KoY Sl slewd) o 53 50ma puall slansy)
.53 0 Laila gl a4
Laila 32 jie () 5S3 , Ba50ma e LY | Ul 2MdKk 5| Milksd i 5o e Milk Jie
Some nouns can be used as both count and mass nouns according to the speaker’s meaning.
Sl Baaly Lo o ading 138 5 | Bagama 8 5 B3 g3re S  0 phall 5 pand) Jl clanl) (any
CAA,-}\ZI s'—}sb!\)glsj..aj\w&y\ & gazall u\ Lﬁ\ "o guiall" 3 giatall u\] (33 gdza & d)i‘i\ d\.ld\ss |_|ght4\.a.\5.
e.g. 1. Light travels faster than sound. (mass noun)
e.g. 2. There are two lights by his desk. (count noun)
Leran Sy Claalll g | Al sUall il daalll "Aaalll™ Ly 2y Light 4alS @ (UGN JUal) & (S
ASiall vt e aind  gd il
Collective Nouns _ 4xcleall sleu)
A collective noun is a singular word used to refer to a group.
e.g. family, team, public

. Alile = Family 4alS Jie 4o sene g0 paeill 222000580 400 Dl 8

@Al e owaill = team,  a<iasll = public SelS A4 lall i g

A collective noun can be followed by a singular verb (e.g. is) or a plural verb (e.g. are).

Ll ) LS aes Jladl 5l 50 500 Jladl Laamy 5 o (S | daelead) clanl)
e.g. 1. Our team is the best.= is 2 ie Jad Lgas
Our team are the best.= are ges J=8 g
It may be associated with a singular possessive form (its), or a plural one (their).

Liayl aaadl 50 il A4Skl yilaca Liaxy Al S8

e.g. 2. Ahmed’s family moved to_its new home.= its 22«
Ahmed’s family moved to their new home.= their g

Exercise

Decide whether the following NPs can be followed by:
a. a singular verb b. a plural verb c. both are possible
1.Ahmed’s young brother =a

2.his family=c

3.juice =a

4.the company=c
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5.men=c
Lecture 3
Modifiers — cilaaadl 5 e aedl)
In our previous overview of phrases, we mentioned that each phrase has a head and one or
more modifiers.
e i GV laanall o (Say L dana (g ST 2y ) sne Led ke JS () Ll o pAY) L ko b
1. Pre-modifiers are modifiers that come before the head.
iV g g sall b gnall Bani o4 5 Akl sl A0k Cilaasa
2. Post-modifiers are modifiers that come after the head.
il & g gall PIBY oA @@ﬁ@;&‘ﬁ&bm

Take a look at the following noun phrases (NPs).
U QL) LS ald il sasall | sl i 1) sl GI1A) 4l aans ) G ladl 5 Jaad) ) Ll

T

a good friend
my school friends
the headmaster of the school
the headmaster’s desk
several students
we all

gveryone in our class

Lgaan s Lgdom o 1 4lSH alonl 5 4lS aal sa (aleall o Sl 5 sall) (ol 1 1 S

When the head is a noun, modifiers usually precede it. Phrases like “of the school” follow it.

I3 Qi b LS, A8l laana (538 el Gannam )" ansd (sl small) Gal 1 )5S0 Laie

A good friend
Friend = /)
A good = (b 235
ol 2y 3 Ll In your class- of the school Jie (el =phrase) " 2asall " IS 1) (Sl
Jie a8aY ¥ asa S
Tha master of the school

When the head is a pronoun modifier normally follow it
Jlie 48aY ool ()5S | dngii Cilaasal) ¢ jrana (el saall) Gl I Q13
We all

We= the head = _:/_Jl
All = pre-modifier = &Y 23ss
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pre-modifiers in the previous examples include the following main classes of words:

JE Y ez A3 Y sl Y1 3 pre-modifiers 4dibull cilassl)

1. Adjectives (e.g. good) ;

Friend e (slJll 44a s good 4zl
2. Nouns which modify other nouns (e.g. school) ;

Friend o+ g 58 Caaa school 4xlS))
3. Determiners (e.g. a, the, my)

Exercise

In the following phrases, decide which of the underlined words is: a. the head b. a post-
modifier c. a pre-modifier

1.a big store =a

2.the store manager=c

3.the leader of the group =b

4.the group leader =c

5.someone in my office =a

Determiners — <ulaasll

Determiners are words which specify the range of reference of a noun by making it definite
(the book), indefinite (a book) or by indicating quantity (many books).

Determiners can be either identifiers or quantifiers

el Gl U aaas LS s cilaasdll of U (e LS Modifiers calaaad) ale
oala g i e Gl - determiner JI s . e sl e ale JS8 Glaasall anl & Morifiers o
,‘gwﬁ@jwij\mqhgﬂ\uwﬁ\@j
1-definitet : (the book- —u<ll)
2- indefinite: (a book- <L)
3- indicating quantity: (many books- s &S i)
s lge 53 s (e (pend I sl a5 Ua determiner b 2 salall g8 13a

1. Identifiers tell us either definitely or indefinitely which noun the speaker means. They
include: :
oS5 ) 4d yra Caaaiall baay Lo S 1) La Ui s oy paill ol gal o 5 <ld el
a. Articles: -y yill &l ; ;
(a/an indefinite articles- _sssill &l 5al), (the definite article- < =il 31a))
b. Demonstratives:- s V) ¢laui
this, that, these, those

c. Possessive Forms of Personal Pronouns:- lacall 4.1l 4z ua
my, your, his, her, its,our, their

2. Quantifiers- 4xS) yaas
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tell us either definitely or indefinitely the quantity of the noun. They include:
Yol aaaa ) S 13) Le U yads
a. Numerals: 3!
one, two, three... (cardinal numerals-= 2 ,Y/)
first, second, third... (ordinal numerals= 4xi il slac 1)
b. Words like: - Jis cilalS

much, many, each, every, a few, little, all, several,plenty... etc.
Exercise
Identify the type of the underlined determiner in the following
sentences:
a. article b. demonstrative C. possessive d. quantifier
1.This exercise is easy. =b
2.Their friend is here. =c
3.The visitor came early. =a
4.Many people watch the show every week.=d
5.These sentences are interesting. =b

Person, Number and Gender - ¢ ¢l ¢ 2l ¢ (2l

Person- p=3udll

Nouns can be personal (humans) or non-personal (animals and inanimate objects).

Note: Personal nouns can only be animate (because they only refer to humans). Non-personal
nouns can be either animate (when they refer to animals) or inanimate (when they refer to
Inanimate objects).

;(Ju‘_g\juu\ﬁ;ns)?agﬁé}i (i) \ 5 1) (a5 8 oY)
e 35S ) gd L Anand ) elant) Ll | liD 3 ga LedY dpad) colilSll dadh () oS5 4 pad il elaull ; Adas Dl
dlaa 4aa e S o bl pallS aga cliils

We can also use the term “person” in a different way. Traditionally, personal pronouns
differentiate between the person speaking (first person), the person spoken to (second
person) and the people or things spoken about (third person).

oadill 5 JsY) (el A A Gaddll Ci i apaddll jlall | 4dlidg 48k "padd! mlhaadll aladiu) LS
Gl (adilly aie dpaall Jh Al o i) ) paddll 5 SN Gad il da 3

e Gadid S cllall g g Gl il die Caaatiall el / A (ad il sl /0 5Y) paduill ASi) ey
o it

1st person pronouns: |1, we (first person- Js¥! pasill)
2nd person pronouns: you (second person- Ul (=3ill)
3rd person pronouns: he, she, it, they (third person- &bl (aaill),

Number- 2=l
Singular (number) or plural (number) affects the form of almost all count nouns, pronouns
and demonstratives. Here are some examples: _
Lu i o iV elaud 5 yilacall 553 saeall clansll aen Jaiity 3l aaad) Slac W) 52 jiall alacY)
Count Nouns:- o2 sasall ¢Lauy)
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student (singular- 2 <)
students (plural - z=>)

a3 JJs..a &_s;_ua\_"n A\AQ‘XL} a).}\.} a.ljdaud\ ;:Lua‘}“ u\ Lo

Mass nouns: are considered to be singular. e.g. water, rice (singular) g
03 jia yiiai LgiY i al 33 500 il elan) Leusay
Pronouns: slezall
I, you, he, she, it (singular = 2_&);
we, you, they (plural = g=2)

Demonstratives:- s LY slaud
this, that (singular = 1)
these, those (plural= =)

Whether the subject is 1st person, 2nd person or 3rd person; and whether it is singular or
plural can affect the form taken by the verb.

e.g.

- He walks home every day. (3rd person singular subject)

- | walk home every day. (1st person singular subject)

- They walk home every day. (3rd person plural subject)

Gender - psiall
The 3rd person singular form of personal pronouns can be affected by gender as follows:
S muad | puiall g g i Anaddl) jledall s jaall QAN (adlBll () S5/ s

1. The masculine pronoun= _Sll “he” refers to males = JSMll 3 gz i,

2. The feminine pronoun= sl “she” refers to females. =&uisall 22y e

3. The neuter pronoun = ¢l 5 Jeali“jt” refers to inanimate objects,

or to a person or animal not yet regarded as male or female(e.g. “Who is i1t?”).

;‘_A\Jﬁ%&d\)@\

p QiS4

(Cuise sl Sha s Ja Caymy V) de 5 Caym¥ () san ol padill 3 gadd jpaiall 13 adiing 4 sVl 4xlll &
ain e 5 ab e alad ¥ Y WhOo s it? Jissi Ul (e pai al g QLI (ke 13) Dl

Caldl) 5 Sl dna padio Ulal s it sesall aading 1 o) guall asills oK1

The distinction between male and female may affect our choice of lexical items (words or
phrases)
bl 5 ClalSH denaal) WLl e i 38 Cuiall 5 jSAal) G (5,4
cAlaal) e iy Loy LSl i g slhaall 5 clalS € 5 cped HiLal | ) (i) 8
Manda_ /headmaster 2 /woman ol _! /actress 4fies
Man and headmaster can fill the slot in example 1.
HE _Sadll ciliia ae 38 535 Y | day 4+ nde (A da s ) e
e.g. 1. Heisa good

Woman and actress can fill the slot in example 2.
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She .. Cuisall ae canliii | ol ol g alins (pialSl) Laiyy
e.g. 2. She is a good

Note 1: The suffix “ —ess” is found in a number of words referring to
women , but there are other words referring to women that do
not have this suffix.

e.g. aunt, niece, nun
Gl Aaala diad = Gl 3 g LY afipal) CLalSDl (e el 8 2a 55" -@sS" 48aU ; adaadle #
4l / cal cu / F cw /alla / dee e 48l sdgn e Y ) Al el LK (e el 2a gy (1
Note 2: Most nouns in English can refer to both male and female.
Cuigall 5 ,S2all 3 gai g JulaiVW) 4alll & il e 2 Y adaaDle #
Al LLISIS 8 ) pudiy Cuigall 5 SRl e 3 g2t Jiay
e.g. friend &> /neighbor s /teacher al= /nurse o= e
cousin (Jlsal /ela /alae / alael) cliy + oY ) e sl

Exercise
Choose the appropriate pronoun:

1. 1st person plural pronoun
a. he b. we C. they

2. 3rd person singular masculine pronoun
a. they b. it C. you

3.2nd person singular pronoun
a. you b. |
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Lecture 4
What is a clause? : 4eall als
A complete sentence needs at least one finite, independent clause.
A simple sentence is composed of only one finite clause, so that the structure of a finite
clause is identical with that of a simple sentence.
Aleall Jay) |, adapea) Aleall aS i Gillae || 83 sasall Alaadl S 5 A 3aad g dlaa (e ST Aagad) Aleal)
(L Adarnll dlaall & | 3250l
Subject deld +Verb d=8 Ao s sing dlaadl (3o o 3 58 1 H5ISN jlaialy
Here are some examples of one-clause sentences:
1. | have just telephoned Mohammed.
. He was my best friend.
. This is his photograph.
. At nine o’clock, we all gathered in the classroom.
. He always does his work perfectly.

S La Jadll g Jeldl)

Each of these one-clause sentences has a subject and a predicate.
The predicate is what is said about the subject.
If either of those two parts, subject or predicate, were missing, the sentence would not be
complete.
LA dsmie 5 deli gl sl Jeall e dlea JS
Cdadll e aty o= Jeldl dde JaSh e ga 0 4y J grdall
.+ 2l Aleal () S ¢ 388 ey Jgmiall 5 Jeldl" o sl aal 1)

However, in an imperative, the subject is usually unstated. ‘
You ... (» pedd (Sdleall ALl jalia Jeldad ) 6Sle a5 )83 25 Y saladly Jeldl) ¢ oY) dapa &
C Al JEaL, Jelal) sale dlaadl Siea
e.g. Go study.
When the subject is missing, we assume that it is “you”, the person or persons spoken to.
The previous sentence can be expanded as follows:-
You go study.
oSl el dl = il = Jeldl ) Liagd oS3 jalia Jeld Leaila + gl Bapa = 1 5,810 (a3

The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:-
NP (subject) + VP (predicate)
The man bought a new car.
noun phrase = NP (subject) " 4xes) Jas 513 ke " || 4vai Alaall 3 Jeldl
verb phrase = VP (predicate) iz daa 515 le " | 4pans Alaall 84 Jgniall 5

The Verb Phrase- 4uadl) (3 jLall) aleal)
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.
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Gl JUall (8 LaS L Jad (g (555 Uil | 4dadll 3 jlal) 5) Adadll Alal)
More often, the VP consists of a group of words (verbal group) with a finite verb as its head.
o For a clause to be finite, there must be a finite verb in it.
o For complete sentence must have finite clause .
B Jladl pa (4aded A sama ) oansi ClalS e gane (o (5 5SH O Lgale alladl (<
e dad e (s iat Gl g Baase o 5Sil Aleal
Banedlen o (g ia3 o ong L ALlS dlen Sl
Axaa )18 (5 siad Y ALlS (583 e Alea JS5 L Ba g 5SS a0V L IS S e

The verb can be either: Simple or Complex

e sl s ()5S a8 adl
1. Simple:idass
A simple verb consists of one word.
e.g. is, was, walked, sat, did
Ll s ALK e (g giagy Ll Jadl)
2. Complex- 3aaxa
A complex verb consists of a verbal group. _
A0l ALYL LS | Ayl A sana (5 sing diaall Jadll
e.g. have telephoned, were placed, were waiting, did not like, could see

Finite vs. Non-finite Verbs: 33 sase sl Juad¥l o 53 gasall JladY)
Finite Verbs
Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finite verb.
Lia sa . daadl (adidll ¢pe 3l 2aad saaadl) Jlady)

He is here.

They are here. (s pa= (a3 il 5 a0all 235

He is here today.

He was here yesterday. (L 0lS sa= (3l 23s)

Finite verbs can have three forms: - JSal ¥ Ll 53 sasall Jledl!
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak

2. 3rd person singular form of the verb
e.g. walks, talks, drinks, speaks

Ll g jlaall 81S Jodll S o ja ddlialy g5 Gl oyl JS
3. The simple past form of the verb

e.g. walked, talked, drank, spoke
Jadll calall Ciy pusail) 5l aliia IS 1Y) Jedll ED dlialy | Jedll layad) alall JS
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Exercise
What is the form of the finite verb in each sentence?

a. base form b. 3rd person singular form c. past form

1.The manager talked to the employees. =c

2.He drinks coffee every morning. =b

3.Ahmed and Khaled usually study together. =a

4.1 went to the mall yesterday. =c

5.At eight o’clock every morning, my father goes to work.= b

Non-finite verbs — 33asa yall Jlxdy)
Non-finite verbs do not show tense , person and number .
The verb “come” in the following sentences is an example of
a non-finite verb.
paana ) JladY) raa il il ABeY) 8 "Come" dadl) aaall (padill (el jedad ¥ saaaa uall JledY)
1- 1 expect him to come soon. (u=s-ill 5 aaall 2ass o1
2- We expect them to come soon. (u=sidl 5 sl sas o)
1- He is coming now. (s 3l 2asy &Y)
2- He was coming at the same time yesterday. (¢ 3 23 4l

Non-finite verbs can have three forms: JWSal ¥ Ll 3a0aa yuall Judy)
1. The infinitive- Jyadl 4ava

a- The infinitive has the same form as the base.

It is often preceded by an infinitive marker “to”.

b- In some cases (e.g. after modal auxiliary verbs) the infinitive is
bare (without “to”).

CJrall ¥ (Sl JSE L o e drpua
TOA 5 sraall Jad i Ll Ll
TO U saaal) Jadll Sl saclusall 1 sall Jladl ey Dla | VA (any 8

For example:
| am waiting for him to come. (&= s x=s J2 “10”)
He can come tomorrow. (o ¢ oxeas J2d) “t0”

2. Present Participle (also called —ing participle)
B LA\.ﬁ\ JEdS || il ‘;,.'au&\ &JL.;A\ sl <212y Ing & Jadll aladiul sa g
e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle)

Sl QB J griall ands o yry Lo ol Calll) Ciy ol aladial 4
e.g. walked, talked, drunk, spoken
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Exercise

Decide whether the underlined verbs are:

a. finite b. non-finite

1.He was able to walk after physical therapy.

2.He is making a chair out of wood.

3.He made a chair yesterday in his workshop.

4.You should spend more time studying.

5.They spend time together every Thursday morning.

Finite vs. Non-finite Clauses
A finite clause is a clause which has a finite verb.

The previous above example has a finite verbal group, “is waiting”.
e Jud e g ging g2 0 sa anall 550 ) dleal
el g2l g il Waaa | aaas Jad s waliting J=&l) sl JUd 4
A non-finite clause is a clause which does not have a finite verb.

does not have a finite verb.
J@H\Jig)mdd:qmﬁéM&éﬁgg\@zqmﬁﬂ\ﬂg\
e At least one clause in an English sentence must be finite.
e Simple sentences consist of one finite clause. ,
JIY) e saal gsanaa alan o g gia o Cang 4y jalaiy) ddlaa (S
Al JUEall 8 LS Baana Joa et adasiad) Jaall
e.g. He is a student.

e Compound and complex sentences consist of two or more clauses with at least one finite
clause.

Al Jlall 8 LeS sanae dlas J8Y) e laaal Jas 32 e 6 53 A8 yall 5 atadl Jasll
e.g. He is waiting for the headmaster to come
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Lecture 5
Verbal Groups- 4dzill il gandll
Verbal groups can be of five types:

¢ addad 4 saa Jimy Bl 25

_,t\yiow\atcwﬂ
Type 1
caiaelioda g dadll jaae+ Jase Jud e o 5S0 J sV g sl
(Modal can-could , may-might, shall-should ,will-would, must-ought to) + (Infinitive_x<=x)
Walk /go/ see/ read il ye (ro J2dll sa Jaill jaae sl acadl Jedll #
could see, will come

Type 2 Have +Past Participle:
alll ¢ sleadl e 3l (Have + past participle= Jxall Gl cay paill) (e )5S S ¢ il
Al saalall (e 30 ( Had + past participle= J=all Cllill cay peaill) (e )5S Sl ¢ 5l
Have, had, or has

| have telephoned you
The class had begun

Type 3 BE +Present Participle: are coming, were waiting
Verb to be: (am, is, are, was, were)
H e ld Gl ¢ gl
(Present Participle= ing & J=ill)+(is am are & Jbzaall \was were =ll)Verb be sacluall Jladl)
ING+ J=dll sa 11$Present Participle 4 sa L 13
English is Interesting language
The movie was boring

Type 4 BE +Past Participle: is grown, was broken

(Present Participle J=il ¥ < yaill)+(is am are ¢ lcasll \was were =l)Verb besacluall Judy)
itis grown up .
The window was broken .

Type 5 DO +Infinitive: did not like, Did you know?
(do, does, did ) + Infinitive
Do el Ludall &l
Do=(do, does, did) + (infinitive verb= cliLay) (e JA& = jaaall Jadll)
- o) i) s Jads
did not like, Did s 43 4dlal 5] ()5 samn ela Cany Jadll
Did you know? Did s 43¥ clila) (53 jaaa sl (o yay Jadll

@sda7rf Jus gugall Cagall aa S [/ @reema501d + @suzy b5 .. o & Ly e




The first four types can be combined with one another to form more complex verbal groups
like:
o g 4 ST Jea (oS adail) e saaall (e 4 )Y £ 8 aen (S
el b 6K ) 585 aeall 4By Hha aa gy (S

(Be +d=dl Y iy ) +(Be + Ing+ J=dll ) +( Have +J=all ¥ oy o)+ Jasa e Jl
P I U T Y S I F TS P SY ' e
e g GG /N 5 TN/l N 5 SEN ]

Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle)

1- (Type 1 & 2) — (V-Y) cue sl pen
(Modal +Infinitive= Jxxal)) + (Have +Past Participle= Jzill ¥ iy yaill)
Ahmed will have finished that book by Friday

2- (Type 2 & 3)- (¥-Y) cre &l aan
He has been learning English for four years.
(Have +Past Participle= J=a1 Y’ —w, ,aill) + (BE +Present Participle= ing +dJa4ll)

3-(Type 1,2 & 3)- (O-¥-¥) ) oY) s
He will have been learning English for five years by next October.
(Modal +Infinitive= yx=4ll) + (Have +Past Participle= J=ill ¥ s »a3)+ ( BE +Present Participle= ing + J=dll)

4- (Types 1 & 4)- (V-£) e o)) e
The president could be seen by everyone.
(Modal +Infinitive= y~ax) + (Be +Past Participle= Jzill ¥ oy paill)

5- (Type 3 & 4)- (Y-¢) cue sl s
He is being called now.
(Be +Present Participle= ing+ J=&!)) + (Be +Past Participle= Jzill ¥ &y yaill)

All such groups are formed in the order 1, 2, 3, 4, as follows:
1234

SIS A o LB LS| YY) &1 65 i 35 G 4 ye il allal) JISEY) jren

- .

Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle) ;
(Be +J2all ¥ oy pad) +(Be + Ing+ J=éll ) +( Have +Jd=8ll ¥ o pai)+ Jo e o2 J

Note 1: The meaning of the verbal group is contained in the last word.

LR PEPRSSVER [ SN S [P F R Y- g PO g D SN

He has been learning English for four years.
JETPPR N N R PO i OV | P N K EA [ WP I N IS CPS L [P PO [ PO [ Lo g
U g ey S LS 1Y

He has been English for four years.
18 ol <l siun )Y CRlaiYY o S0 (00 3B L s Y ALV (g g OIS i) o pmila | alead) Jina SR
ol 3aal (ALY (g g OIS (i) Camm g g el e Ul Cilen (g pa AlS Lindaa Wl ST s Y (il
S s
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Note 2: Only the first word of a verbal group is affected by person,
number and tense. The first word is what makes the group finite.
Sl JElS Y1 Al s asdll gl aaedly il s dgledl) Jeadl 8 dass Y AS)

He has been learning English for four years. =i he oY Has Liks ;
| have been learning English for four years. 2 Ll oo Have 3315 | oY have [SHZEN
They have been learning English for four years. s they ¥ have Lika

Verbal Group Types- Juadills ¢ 1 5 &~ &

Type 1:- ( Modal +Infinitive)

The main verb which follows a modal auxiliary will always be in the bare infinitive (without
“tO”),

e.g. can see, could see

TO U3 Ddas O sS (Srg il (50 Wil (s g sl 1aa (8 o gall ay Jadll
Il &2 S (1, you, they, she ,he,it) delall jiy 528Y e aall 5 padldlly il L Sl sall #

Modals are not affected by person and number.
He must know how to speak English.
They must know how to speak English.
You should listen to your dad
I must pray on time
It could be cold outside _
e J b calite b Jeld) ) o chilia) Lo alia) 3l gl () S a0 gl Slagall 5 Jod aiad Jeldl
. Aaald Al sl | saaae L) aale ) sty i La Lgdl ixe 128
All verbal groups beginning with a modal are finite.
BAMMQSSAM\jUA';ﬁﬂL;)SESLAL@\@A..Egmdqyg._ah_.ﬁ&d\@zﬂ\ Gle senall rean

Type 2:- ( Have +Past Participle )
This type is an expression of the perfect aspect. “Have” is used as a helping verb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and tense.
ol g lmall /2l alal) a3l AR Gl e s sa sl 1
J2all ¥ oy paill +Have/ has + Jeld aladiu) s € .Ul bl /& jliaddl sala)
Jadll Gl Gy puail) + Had + Jeld paiing oalall
(. oadll Jemsd . 4len slae i
P SIS () oS ad Bl sy g 3o Jladl 4 5 3aclie JilSHave / has fhad pasius
(I, you, we, they) delall (S 13} 5 & jladll el ae= Have
(She, he, it) delall S 1A g Jaall (e 3l 2e = Has
(1, you, we, they she, he, it) Jeldll paea s 5 ~aball (10 31 4 = had
:JUa
He has read the book already. (present perfect tense= Ul ¢ jladll (14 9)
We have read the book already. (present perfect tense= oLl & jlaall (1))
The students had already gathered in class when the teacher entered. (past perfect tense= 5Ll alal)
Type 3:- ( BE +Present Participle )
This type is an expression of the progressive aspect. “Be” is used as a helping verb (auxiliary
verb). The helping verb “be” is finite and changes according to person, number and tense.
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aiusall zmlall / g Slaall el 5 el e V) a6 3 52 sl s
(el s aaedle (At s Cawn ki g 3aaas A 5 Baclue JldlS 223 Be(is, am, are)sac Luall JlxdY)
-
He is coming. (present progressive= _aiue g jluas)
They are coming. (present progressive= i g jliaq)
He was waiting. (past progressive= _«ius ale)
They were waiting. (past progressive= _«ius k)
Jelil) juaty s g Badsa s Jaad) S 8 cdlia) sac Lal) Jlad) (o)) JaaDls

Type 4:- ( BE +Past Participle )
This type produces the passive voice
cJsenall el dopa Lidany (e 311 132
The verb is active in this example:
Ahmed broke the window. (active voice= a sl i) _
aslod) deall A Lie | 338U ul deal]
o slaall 430 alaallé 131 the window 42 Js2ée broke S Jzé Ahmed 2eal Jelé
The verb is passive in this example:
The window was broken. (passive voice= J sexell i) }
I senall dine dlaall 13) Je B aa o K1 Jadd 4y J gzda g J2d Laie || alaadloda & 33800 ¢S
W e e aled Y S0 & 33D () e glae Litie o2 5 e alad Y LY
CJseaall Aie gf | Jeld Letla dlaall 1A

Type 5:- ( DO +Infinitive )
In this type, the helping verb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP).
Some of these operations are:
agladl) 5 jlaall laall & Cilleal) o paall 8 aclig 4l an cJalaall sy dO J2dll g 5 128 8
DO Jaleall g o sty Al Slilaall (ans 334
1- Operation 1: (Negative- &) 3 sY) dilasl
To form the negative, we put “not” immediately after the operator.
He does not want it.
They did not come here.

DO Jabaall 2253 13le NoOt &l 1 aadios | i (5l

2- Operation 2: Interrogative - (question- J!sudl) aaléiuy) Y aulasll
The interrogative is formed by placing the operator before the subject and leaving the rest of
the sentence unchanged.

Jlie Qs sl (5 Al 438 & 5555 They deldl) Jd Do Jalaall g dpalgiin dapa () 5SIl
___They come here.
Do they come here ? (interrogative = J) s 4xua)

3- Operation 3: Tag question - S sill J)su¥ 4l
Y sl axd coailal 5S8  lsad) 8 I yes/ N0 Q oo 4dye aSiany A ands s aS sl J) s
He did his homework, didn’t he?
They don’t come here, do they?
Operators
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In addition to “do, does and did”, operators also include:
1. The modal auxiliaries (can\ could ,may\ might, shall \should ,
will \would, must\ ought to)
- Lyl ety Jeladdl “do, does and did”, ddbeayl
1. The modal auxiliaries- 3\ 5!l (can\ could ,may\ might, shall \should ,
will \would, must\ ought to

Operation 1: He could not come.= &
Operation 2: Could he come?= algfi
Operation 3. He couldn’t come, could he?= S 55 J) 5

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British English ).
(Ot 5l 2ie dds JladlS aa3iui Ula 5 ) 3ac b JWdS have”, “has”, “had”
The following are examples of “have” as a helping verb operator:
aebue JréSHave Jdalzall 40Ul Jeall 4
Operation 1: They have not come yet. = &
Operation 2: Have they come already? = algdin!
Operation 3: They haven’t come yet, have they? = 1S 55 Jl 5

This is an example of “have” as a main verb operator in British English:
23 J=S Have Jall Judd)
Operation 2: Have you any money? (British English)
Comepare:
Do you have any money? (American English)
Jadll 5 aiaal) Jadll e Jany Jad QIS 1D i Jad o Aleal) 3 Jlaal) ¢ shay 050 | 4ty jall 4 ulasl)
" WH Q s aelis iy V1 Aleall fa jaiila | 4S5 5a¥) 4y 3udas¥) (o aeLial)
3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs:
sacbue Jladl 5 aida JladlS “am™, “is”, “are”, “was”, “were”

The following are examples of “is” as a main verb operator:

sl Jri€ [ Al Ay

Operation 1:- He is not here.
Operation 2:- Is he here?
Operation 3:- He is here, isn’t he?
aaly s Jed g J8YI e (o gt a Y Aleall of Ll g HAT Jad) 438 Lo dlead) oY 4ld Ua s off W e cas
The following are examples of “is” as a helping verb operator:
Laebie JaiS s 4000 dliaY) 8

Operation 1:- He is not coming.
Operation 2:- Is he coming?
Operation 3:- He is not coming, is he?
Coming b s» AT Jad Lead dlaall (¥ asld ye | L
Lecture 6

Form and Function
Form:- is what the word/phrase/clause look like.
e.g. noun, verb, noun phrase, verb phrase, relative clause
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sl anlS Cela L) | AWK drpa 4l Dl (Alead) clause /34 phrase/ 4aSllword ) ) JSS o rdspall

verb phrase sl prepositional phrase sl .. Noun phrase 4mw! 5 e & Ll 5 Jeld
Function:- is the “job” of the word/phrase/clause in a sentence.
e.g. Subject, Verb (Predicator), Direct Object, Complement

A Lo g Al b sl ey calaall A (el clause /5l phrase/ Aaliword ) 4 dae (o 5 1adidal)
alaall A (Adead) clause /3Ll phrase/ “!Sllword )

raa sl adda g 5 of (Sl Jadll5 L J=€ — Predicator /Subject - JelS il Leil DU
hadd pES) Jad ey Jaid | A (G o L ddpa G S0 )

oAl Giliae s Cilaa o L Subject 44 2w 5 Predicatoraive J=all ¢S5 Ll adila 5 5 5S- ¥

Complement 4leall AL 51 / Direct Object ilse Jzé & Lagl 5 a8

Exercise
Choose (a) if the given term refers to a form and (b) if it refers to a function.
a. form b. function
1.pronominal group =a
2.indirect object =b
3.complement =b
4.subject=b
5.noun phrase =a

Functions of the Noun Phrase (NP)

Function of the NP- 4w dleall cailia
1- Subject of a Clause — daall Jeld
As we mentioned in Lecture 4, a sentence needs a subject in order to be complete (except for
Imperative sentences where the subject is unstated).
ilen Conpal W5 Jeld o (s 5iad )Y Alea 6 iy L. JaiSEl Jeli zliag aleall Gl 4l )1 3 jualaall 8 LB
. And g Jea s o seie 0¥ Jeld )zl Y LY e Alea L Jaal) oda (e i g, 45kla

e.g. go study= (unstated) 3 SI3all cul Caadl il 3 seaall Ol (pad o)) gadaiaas (K 5 ) Sha g Jeldl)
you Go Study

e.g. The old man is here

The old 4leall o4 45ua 131 | Nominal group -4xesl 4lex A5 The old man s 4leall oda S Jelal)
Jeld lgiidh g 5 4peul 4lea man

2- Direct Object of a Verb- J=all il 43 4l s2dall
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Transitive verbs require an object. Mono transitive verbs take only one direct object.
e.g. Ahmed finished his work.
Lib il Jsrie Lo s sing g 50 gue s Al 4o e o s sing a0 dadl) () A8l @l pualaally Las)
Mono transitive verb 4w

Ditransitive verb 4sewiy pilu ne g pilu 4 Jgria e (o gian S8 ¢ 4l
Mono transitive verb ) < s Y f

e.g. Ahmed finished his work.

Ahmed= Subject = Jelé

Finished = verb = J=é

His work = direct object of the verb = J2ill il 43 J g2éa

o8l 0sS L Aleall o A LS aal g A Jgria e 48 e OIS IV TY ) pEle 4g Jsmdall O ad S #

Loalaall AT Shs OKe ol dlea Jie e i 058 i) 4g Jpriall ;LS
To / fordie sall Gasya 4l G a6 + Jadll 2o il yraa o and ()5S0 3alally il yadl 43 J seiall Ll

3- Indirect Object of a Verb- J=ill il yll 4 J s2dall
Ditransitive verb 4sewiy yilu ne 5 pilu 4 Jgria e g siag g3 o 33U Jadll G & o) Aalis (Y

Some transitive verbs require two objects. These are called ditransitive verbs. They take a
direct object and an indirect object.
Lol e AY) 5 Al Laaad ol g=ée AU Ditransitive verb Il Jad

t Sl e ST A Y Y ) dlae 4y Jsriall o yal L : Sl 4

o8l 058 L aleal) o3 8 LS aal gy Jsnde e 4le (IS 131 Y

Loalaall AT Gl O sl dlea Jie o 05 bl o Jgaiall ¢ Ll

To / for Jis sall Cagom Al Canmi 58+ Jadll amy by spena sl ) 5S0 83lall Jdle sl 45 J snial) Wl
e.g. He gave Khaled a book.
gave = J=dll
a book / Khaled ilw e 5 silie 44 0l s2da
bl 4 Jgriall 2ay ela + dea 40Y / @ book = il 44 J s2a4l)
To / for 4 canzai j& 4 Jadll axy 1+ (add aul A& ¥ / Khaled = il e 45 J snia
He gave a book to Khaled

The shopkeeper sold him some snacks.
Sold = Jadll

il et s il 4y G srda
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ale il 4y Jgriall 2y sls + dlea 43Y / Some snacks = il
T0 / for 4l et i+ Jaill aay (3 + (ot pud A& Y/ him = 8k Jal) 43 Jsaial

The shopkeeper sold some snacks to him.

4- The Complement of the Subject +BE (is, am, are, was, were)

BE (is, am, are, was, were) + Jelall aleSall dlaal)

A complement is a word/phrase/clause that completes the meaning of another
word/phrase/clause.

It is necessary for the meaning to be complete.

e ddayis 3acld al t}_d\ Y
Complement 4Lsall + verb to be (is, am, are, was, were) / 2=bus J=é +Subject / Jelé

shword - 4alS ) sixe W JuSi il 5 ¢ Clause-dlea i phrase— s ke sl word — 4wlS a ALl dlaal) ale
Al ((Clause-dlea 5l phrase— ol

sl () 5S3 alaall e e (Y L el JaS3 L a € W )0 il

Ahmed is my best friend.
is = L bl Jed / Ahmed = Jelé

=my best friend.

My 4san¥) alaall s Cpand L ()Y 4sad 4 sana 8= Friend &) 5 bestd sY) Gsenl (o O 5SH 4pan) dlan
Asnial g e g aaili alaall S5 je o Y, Jadll 5 Jeldll aa W JeSS o Lddia s Ua best friend
ALeSall drans¥) aleal)

Note: When the complement is a noun, it must agree with the subject in number and gender.
ool g ol Jelal) e 5 O cang and ALSAll B jlaadl clS 13 7 ddaadl
Liay) e (5S5 aan IS 13150 j3e () ¢S5 alaSall dpan¥) alaadl 585 0 jia Jeldl GIS ) Jay
Al et Jaall 4t g oy Chige gl SAa K1)

Ahmed is their uncle. (not “uncles” or “aunt” ): Jt«

Lzl 3 yie 4LeSall drans) Alaal) cila 3 jie dead Jelill (Y | aleef 5l dee LB L
Sarah and Huda are their aunts. (not “aunt” or “uncles”)
e ALSall Apan¥) Alaad) Caelad aan (538 55l OY alac ] sl dee L L
The full verb “BE” in this example only serves to join the subject and the complement
together.
1add laa aleSal) asanty) dlaally dc\s]\h_)‘sm alaall s2a Lgé\:\s.uaj Verb to be J! J=é

In this case, the full verb BE is called a Copula (=something that joins things together).
There are other copulas in English, for example, the verbs “become” and “seem”.
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copula (Verb to be) Jad cew (hid Jelally aleSall apan¥) Jaall Loy sebisall Jadll IS 131) Adlad) o2 4
il Lgiany L3V Juagi o) oy yislal i

become / seem Jis verb to be Jxé e 453V 8 AT copulas -y Jladl Sla*

5- The Complement of the Object- 4 J sxaall dlaSall 40! Aleal)
In the previous example, the noun phrase “a good student” is the complement of the direct

Sl JEal) 5, 4 Jpniall ina JaSin By . inall JaS5 Lpand (30 ALeSall 4pandl) aleal

He found Faisal a good student.
He = Jeldll

found =Jadll

Faisal= kbl 40 J gndall

(s 3and Jiad (e Cony ¥ Jiag Jadlly o 58 L) (ST Jad ge iny GRis e Jad s Found Jadl
aa s Jiad (b think/ Believe iz 430 s 5 (5 sixall izl laFound o ) seaialld

Gy OIS G s | Jemh aa g S a5 s I (g sima (0 sirall paad | iS5 He found Faisal L %
aleall A AN 4y Jsnie aa ¥ 40V < bl 4y J smiall aleSa 4pans) dlaa ) zliss Undl) 13a (oald] | Dlad aie

object “Faisal”. Compare the examples in (a) and (b) below:
In example (a), “Faisal” is an indirect object and “a book™ is a direct object.
The sentence means that the teacher looked for a book to give to Faisal.
In example (b), “Faisal” is a direct object and “a good student” is a complement.
The sentence means that the teacher thinks that Faisal is a good student.
4dlll (b sa) &4l o el pdball 4y J smaall 45 laa

a. The teacher found Faisal a book.
43 Ol gada o (g gind g Joandl QIS e anally o5 Y s Jed Found Jaé | JGa) 13a
DALl 4 J gadall day els + ¢ 5 43Y /abook = il
To — for 4 G o)) (ay + Jaill any ela + sl ela LY / Faisal = salae )
. Sl aleadl a5 awed i
The teacher found a book for Faisal.
b. The teacher found Faisal a good student.
Believe / think (sizas .. s s2e J28 Found J=dll JUall 1aa 8

Faisal 4 Jsaiall 4leSa 40l 4dea 3 good student

6- Object of a Preposition- sl <s sl J s2de
Prepositions are words like “in”, “on”, “of” and “off”” which are normally followed by a
noun phrase.

..(noun phrase.) 4xs! s lxs 3B A (in, on, of, off) Jie «lalS & sall Cag s

(F\uﬂdw)wﬁﬁ\u?@u&mmy‘a‘)w\_
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e.g. - We are in the same class.

_all G = The proposition = in
ol G Jsasa - Object of a Preposition (x O5SE 4xenl o e A= the same class
Preposition Phrase sl 5 Jlall 3 jle ol = in the same class

- He walked on a high platform.

)l < » = The proposition = on
ol G Jsas - Object of a Preposition (x O5SE 4l o e A= g high platform
Preposition Phrase L sl 5 Jlall 3 be aui = on a high platform

The noun phrase that follows a preposition is called the object of the preposition.
In the two examples above, the noun phrases “the same class”
and “a high platform” function as the objects of the prepositions “in” and “on” respectively.

7- Appositive to another Noun Phrase - J
An appositive is a noun phrase (NP) that describes the same person or thing as another noun
phrase (NP) that came before it.
" Al g AT dpan) o jliaS o AN ) (et (il Caal ) 4] Milea s Ll 8 rdad)
o o) gl (el Bl i a6+ 1 Jeald agin Jeals aHF Glans ¢ ) "= (ainliie (pfaand (i e 4 OIS 1)
"Appositive" Ju il

e.g. Your friend Ahmed Al-Ali is here.
e In the previous example, “Ahmed Al-Ali” is an appositive.
It is in apposition to the noun phrase “your friend”.
Both NPs “your friend” and “Ahmed Al-Ali” describe the same person.
Noun phrase ..4sx! o e aYour friend = 1Y) 4 o _luall
" Appositive " Ju dea e il Lraw) 5 jledl 238 Anmed Al-Ali= 4slll 4pauY) dlaal)

Exercise :Choose the correct function for the underlined NPs:
a. Subject b. Object c. Complement d. Appositive
1.His father gave him some important advice. =+b
2.Ahmed’s uncle lives in Riyadh.= -a
3.Ahmed’s uncle is a successful businessman.= -c
4.Khaled has a lot of books in his room. ==»-b
5.The teacher gave the students exercises.= -b
6.My brother Saleh studies at King Faisal University. =-d

7.The manager found him a hard working employee.= -c
Lecture 7

Types of Apposition
In Lecture 6, we mentioned that one of the functions of the noun phrase (NP) is as an
appositive.

Jad) & Azanl) o jlaall Cailia g aal () U S3 T 6 juandll &
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We defined an appositive as a noun phrase that describes the same person or thing as another
noun phrase that came before it.

oA deaS (et il e il Coa dgend 3 jle 4y Jaul) Ld e
In this lecture, we will discuss the types of apposition.
Apposition can be either restrictive or non-restrictive- s el 5 aiall Jall

A- Restrictive Apposition sl Jal)
e.g. Your friend Ahmed Al-Ali is here.
In this example, the second NP “Ahmed Al-Ali” restricts the meaning of the first NP “your
friend” by giving an answer to the question “Which friend?”
e We call the NP “Ahmed Al-Ali” in the previous example a restrictive appositive.
61 ") small ol g Lilae by Mslipna ™ 101 dpen) o jlall e 38 " Jlall deal 1 ailil) o jlall JUL 138 b
Lia deal cliyaa W W & ﬂbm\mwmd\wu s clina Wl 5 5al 5 jlay "¢ G
Cdall dipa g 1ha g Gadea (o U (i " dlipaal 5V o jlall W Cina g
Note: In this type of apposition we do not use commas before and after
the appositive.

LoAlals | o) assiile Jad) e g il 138 A adaadlet
B- Non-restrictive Apposition e ypall Jal)
e.g. Ahmed Al-Ali, your old friend, is here.
In this example, the first NP “Ahmed Al-Ali” is a proper noun which is unique and does not
need modification.
a5 zlingle el a1 o yei e Jie 5. e anad & " adl daad™ 1T dganll o jlall | QL 120

The second NP “your old friend” does not tell us which “Ahmed Al-Ali” is here but only
adds information about him.
aalay go g peall Al OV 5 W i gile | deal (e ey U pad Y M anail) @liina 1 apiBY) 4penl) 5 L)
CASTY agilial daglae o L Masagio jle
e We call the NP “your old friend” in this example a non-restrictive appositive.

Note: In this type, we use commas before and after the appositive.
".J_\SA ).19 J.J_\ "Ly 4_1_3\_\]\ WY\ a)l_uj\ ‘s.o.uu
La_ﬂ LAA:u 9 d.\.&ﬂ w‘j\ ‘\lo;j‘ d_:s alald ?M Ladla dd.ﬂ\ e 8}4“ Jaa &el ‘LL:;)LA#

Exercise
Decide whether the appositive in the following sentences is
restrictive or non-restrictive:
a. restrictive b. non-restrictive
1.The shopkeeper Othman is a hard working man. =a
2.Dr. Omar, my Linguistics professor, published a book.= b
3.Majid and Saleh, my cousins, will visit us tomorrow.= b

Prepositional Phrase (PP)- »all s y» dlea
We mentioned that a preposition is a word like “ in” or “on” which is followed by a noun
phrase (NP).

NP 4sen) dlas + s Gioa e 0S8 "5 paall 5l " jall s dlea O J (e L S3
(On—in—with ... ) Jieasm a llaa
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e.g. Mohammed is in the classroom.
* In this example, the phrase “in the classroom” is called a prepositional phrase.
It has a preposition “in” and an NP “the classroom”.

The function of the NP in this sentence is the Object of the preposition
o aaall S il Jaal &

Mohammed =subject = Jelé
Is = H.v = 2c b J2d
In = preposition = ,> <@
The classroom = NP = 4xeul dlaa
IN the classroom = _all cas dles
in sall Casal 4y Jgxie il 8 = The classroom = NP 4xes) dlead) dina g 5

*A preposition normally comes before an NP, but it can also be separated from its NP as in:
aleall e sl G daady o)) Lyl Sy VA rary A ST5 ¢ dpan) o jladl 8 Sl el G 3aladly
Al) ALY 3 LS AansY)
e.g. The man is standing on the platform.
Gl 06 L 13 e alead)l J8 el Caja IS Gl Jl)
What is the man standing on?
LS Jle sl Gl gl o culS 1AM el G oad dy Jsrie o Ml aleall (S35 Y S8 ¢ Jhpall Al &
bl U

The platform that the man stood on was very narrow.

o pde iy el alen s 4pen¥) aleall e el Gioa Jeadil ;U 138
However, in these examples, the association between
preposition and NP still exists.

alealls 35m5a JI3Y T il (1

Prepositional phrases can express a number of ideas, including:
1- Place- J&all

e.g. The book is on the desk. (pp)

on the desk =¢lSall e Jui ja o glaa

2- Movement- 4S )all

e.g. He walked to the mosque. (pp)

to the mosque = 4S ) sl olsiV) e Jui s caa dlas

3- Time- <é

e.g. | finished the exam in one hour. (pp)

to the mosque = &l e Jui ja s s dlas

4- Manner- 43kl

e.g. He finished it with little effort. (pp)

with little effort = 4 kil e Ja s coja alea

5- Purpose- - 2zl

e.g. This message is for Ahmed. . (pp)

for Ahmed 2=V ) iyl oda L‘j

6- Agency- Jwall

e.g. The window was broken by the young boy.(Passive) (pp)
by the young boy = Jseasll i)

7- Instrument- 312y
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e.g. | wrote with a pen. (pp)
with a pen = deasiual) Y1 e Jx5 ja o jadles

Exercise
Choose the meaning expressed by the Prepositional Phrase in the
following sentences:
a. place b. time C. manner d. instrument
1.My office is located on Riyadh Road. =a
2.He graduated college with a good GPA. =c
3.He fixed the door with a hammer. =d
4.They will visit us on Monday.= b
5.The artist finished the sculpture with great talent.= c

Functions of the Prepositional Phrase = sl < s dles Cailia
1- Adjunct-48Lay)
An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct, the
meaning will still be complete and the sentence will still be grammatical. It is not a necessary
part of the structure of a sentence.

oAl Alea /o e [AlIS J A sl i Al /5 e / AAS (4 = Adjunct-4dlsY)

cdaania g alalS alaadl 5 6<8 A0 g0 a3y ¢ i ;MY\@M\@&JM&\ s (A

Adjuncts are usually adverbials.

8 48l () oS8 e Bale
As an adjunct, a prepositional phrase is considered an adverbial phrase because it does the
same job as an adverbial. ‘ ‘
S ddpn ol iy J58 @Y | 4 a dlea i ) (a s dlea ¢ 4dllS
An adverbial is a group of words that does the same job as an adverb. In other words,
adverbials can be used to say when, where or how something happened.
s 5o ol ¢ e oo pill aadiig oyl (5 )AT 5 jlay el 4 a6 Lay o685 S 4 ganar ol
Gaaall
*The man stood on a high platform. (adverbials of place)
This prepositional phrase (PP) is an adjunct that tells us where something happened.
on = <~
a high platform = 4wl o )le
on a high platform = s aall 5 Jlalldaa = jall (s dlaa

* | finished the exam in one hour. (adverbials of time)

This PP is an adjunct that tells us when something happened.
in= > »

one hour = 4wl o le

inone hour = Jsoaell 5 Ol o ke

* He finished the exam with little effort. (other adverbials)
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This PP is an adjunct that tells us how something happened.
with = s i

little effort = el o e

with little effort = sl <o = dlas

Note: Compare the definition of adjuncts in this lecture with the
definition of complements in Lecture 6.
L6 o palaall (pe ALSA g adlial ) (40 s
*A complement is necessary for the meaning to be complete. If we remove it, the meaning
will be incomplete and the sentence will be ungrammatical.
. Angnia dleall ¢Sl 4y 5 e ;AL
cahld alaa Ciaval galead) Jima 30 Al e ALK W)Y
* An adjunct is not necessary for the meaning to be complete. It gives extra information. If
we remove it, the sentence will still be grammatical.
o 4gilal daslaa ani LY | W e (e dagaia ()5S Ol Aleall (Says 4y 55 i e 1 alLY)
oo LS alis alead) e B Lgde LYl (S
2- Complement of Subject +BE - aclull J2dll + Jelall dlaSal)
e.g. The book is on the desk.
In this example, the prepositional phrase “on the desk™ is the complement of the subject “the
book™ and the main verb to BE “is”.

;L) G ‘;
The book is = NP= axclus Jad + Jeld
on the desk= prepositional phrase= s luall Jadll 5 JelalldleSa a5 55 ma 5 b dlaa

3- Post-modifier in an NP- 4xes¥) o jlaall & 523U Jaeall
e.g. The desk in the classroom is covered with books.
In this example, the prepositional phrase “in the classroom” modifies the noun phrase (NP)
“the desk”. The NP is the head and the PP is a post-modifier because it comes after the head.
The desk = NP = 4xend dlaa + alaall
in the classroom =preposition phrase (pp) + Post-Modifier

"aleall Gl "o cila LY @Y Jaed Hgaall 5 lalls jle il L

4- Complement of an Adjective — 4iall A<l

e.g. Ahmed is good at Mathematics.

In this example, the prepositional phrase “at Mathematics” is the complement of the
adjective “good”.

e.g. Ahmed is good at Mathematics.

"ua " asall A& oo M at Mathematics™ soaell 5 sladl s e JU 138 3

Ahmed = z= ypa oul

Is= el Jz8

Good= adjective = 4sa

At Mathematics = preposition phrase + complement of adjective "Good"
At Mathematics= x» 4ball dleSa + 5 m0 5 jla dlea
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Exercise
Choose the correct function for the underlined PP.
a. complement of subject +BE c. adjunct

b. complement of an adjective d. post-modifier in an NP

1.We finished our exam in 2 hours.= -C
2.We visited the big shop in the mall.=d
3.Mohammed is fluent in English.= b

4. Ahmed was in his uncle’s house.= a
5.Ahmed’s uncle has a big TV in his house.= ¢

Lecture 8
Adjectives- Claall
are words which we use to describe people, things, events... etc.
el aa s e LY (il Caa gl Lgaadiins S e 5 )le &
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Adjectives can be divided into two groups - (aesd ) sl Glaall
a- Attributive Adjectives- &l i
Attributive adjectives appear before the noun.
e.g. This is an important lesson.
(pre-modifier -Gbe dare ) an¥) i (5 5Sh3ale & il 108, au) U edas a5

This is an important lesson J&«
ol ) = aul = Lesson 5/ 4ia = Important ¢l JUially
Nominal group = 4 3 ke = an important lesson

b- Predicative Adjectives — 4 sill saiuall Slaal)
Predicative adjectives appear after the noun, in the predicate.

e.g. This lesson is important.
..Predicate 3l & au¥) 20y S0 " Predicative Adjective” I

This lesson is important A JEalb
This lesson = 4xen 3 e /usl il = aul =L esson
This lesson = 4leall 032 & Jeldll s Predicate = 82ia (68 .. IS 2cbuall J2dll 5 Lesson 2= Sels s important = 44zl

Many adjectives can be used both attributively and predicatively, e.g. the adjective

“important” in the two previous examples.
Al ALY 8 LS Bt i of Cond cliial axiins o Sy cliiall (e apa2l)

Some adjectives can only be used attributively.
e.g. main, principal, chief
Main , principal , chief - Jic ~u) J8 5 ey | i€ i aasis cilacal) an

Some other adjectives can only be used predicatively.
e.g. afraid, asleep
afraid, asleep- Jic 1 au) any 5 iy || Lo 530S 00 Luany
Loasale Lgiad | Baiie Sl ) Glicall - ddas et
Adjectives used only predicatively tend to refer to a temporary condition rather than a
permanent characteristic.
el () aBdy (Saa o yual 4via )5 il = 438 e alls = temporary condition —aa sl predicatively & claall aaitus

Gl gian I gdi) Bae (e diad (e ) (e ALy gha 3 il = daila Al il s = permanent characteristic
Look at the following adjectives referring to health in the examples below:
Alal) ALY 8 4l ) sailal) 4000 cldall ) )

e.g. 1. The old man is well today.
(Dol s ai (S Jae ()Y A e Alls = 4 5l) = "a sl " 3 daay =The old man is well today Juie

aelue J2é = s 4enl 3 e =The old man

s () 5She (S 1Sy (S0 Jakd o sall B dlaia 4 aBse dlls 4 Ja ) s OY L 334 44 predicative adjective = well
temporary condition = 485 Ala g8 13

In example 1, “well” is a predicative adjective that shows a temporary condition.
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Compare example 1 to the next example, where the adjective “healthy” refers to a permanent
characteristic.

e.g. 2.He is a very healthy old man.

The old man is healthy.
- ool e dash i culSHealthy 4sal) || Gaadad) cpdliall
Al gl o yial O jensd A Ala = palall 8 3aa + oalal) 8 32a GlS = 3aa Asaa Gual) Ja ) = The old man is healthy
predicative adjective = 31t 44ia Uia Cels 5431y Alls =permanent characteristic= s¢2 130 Gl (e

e A Als = palall d3aa + oalall 8B CilS = Baa daay (e Jayal=Heisa very healthy old man
Attributive Adjective = 4fxi 48 Ua Cela 5 4ails Alla =permanent characteristic= ¢8 13 (el (10 &Ly gha o yidl

. ks predicative adjective = sxiue 4dall 058 | A% ga 9o juald A8lal) Gl 13 4] agds 1)

Attributive Adjective = 4gixi 4iall sasius f predicative adjective = siwe 4ba addiu s el 5 4l sh Allad) culS 13

In a few cases the meaning of the adjectives changes according to its position in the clause.
: JUs clause deall i lead o Cauas o pdiall ety | GV e W8l 3

Ahmed was late. (Ahmed did not come on time= <l & jali seal)
predicative adjective= sxiue 4ba Ua a5 jalie s (g} ) gmally AL 4 = ate deall ixe dleall oda &

The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead = el i 5iall)
Attributive Adjective = sxiue 4ia Lia A5 s Ghledea] Lo 8 giall =| ate ddeal) Jine dlaall s2a & L

a= = Ahmed
4l Adaa = The late Ahmed Al-Ali
au¥l Jd sela LY Attributive Adjective < late

Exercise

Decide whether the underlined adjective can be used only attributively,
only predicatively or both.
a. only attributively b. only predicatively

1.He is a smart student. =c

2.The child is asleep.= b

3.0ne of the main causes of lung cancer is smoking.= a

4.Are you afraid of the dark?=1D

5.This runner is fast.= ¢
Adjective Phrases

Adjective Phrases - —aa gl &l jle

Adjective phrases are composed of ..
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O ST G gl @l e

1 an adjective= «i=ll (which functions as the head of the phrase = dleall (sl ) 2 5)

2 a modifier= J2=« (mostly an adverb= — =)
3 and a complement.= 4l

Abiall el ¢ 55 Modifier Head Complement

Laih 4da Good

ALaSi 4 4da Good at Mathematics

"I Jaxs + 4da very Good

ALSH "I d2a + dda very Good at Mathematics

JNSPREN g

Asia s s be et K1 Baa 5 Al Ll aay (l i = 4da = Good JsY) )

good at Mathematics &) JUll

ol aleSilia a5 s Casaat oY . Proposition phrase — s s s Jla 3_le= at Mathematics
o ) + 44 = Good

ool Gl Jane (e (585 Ao 55 5k = very good sl JUall b

s oY Jad)

4da 53 jbe A= very good at Mathematics

ol s Jaxa 5 s = very

ol ) + 44 = good

ol Ul 4l + Proposition phrase — Jsos 5 Jls 3 _ke= at Mathematics

Gradable adjectives- z_xll ALl claall
Gradable adjectives are adjectives that express a condition or quality of which there are
degrees.

_.L@ucjm‘ag)m/&;ﬁ@m@",QM\QL;)A@;}AJML;@;:;QLL&@ ol Al el
For example, “good” is a gradable adjective. There are degrees of “goodness™:
3 sall chla ja ellia g o yull A8 "aaa™ Mia

1. High Degree — Jle s siua
e.g. very good

2. Excessive Degree- 4xdbull (5 i
e.g. too good

SEY 4 gua = a S Al laiaY¥) =The final exam is difficult
Jall Jntise s a ra aa OIS Al a1 = The final exam is very difficult
iaiie da Al a8 Al glasiaY) = The final exam is too difficult

3. Sufficient/ Insufficient Degree — (A8 e / S (5 siua
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.e.0. good enough, not good enough
good enough = 4l saa
”g__uuﬁ”‘;Jaim}AS”@uSq:\;”@__ﬁf;m
4US 30a il = not good enough
" Gosthall (e JBT 1 e S i e A s Gl e

4. Comparative Degree- 4 il s siusa
e.g. better (comparative form of “good”), smarter (comparative form of “smart’), more
beautiful

A e Juzadl deal QlUall /7 Ja88 (it 40 )il " ddia " (5 sl 138 aadiy
ad Y Godder Jsii e 4 /. Good 4l (e 43 )il dia = petter
smart 4lS (e 43,8l 442 = smarter

beautiful 4l (e 43 )il 440 = More beautiful

5. Superlative Degree — lalidl (s g

e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most beautiful
duadll & 3LYI e Juaill = Jaadll & Jadl) saal Clldall /oLl ¥ =gl e ST G 48l " adal (5 gl 138 aodinyg

000d 4xlS (e Alialidll 44a = Best
smart 4lS (e dlalidl 44 = Smartest

most beautiful 4elS (e Alslidl 46a = Beautiful

Some adjective like “complete” are not gradable. They are not normally compared, nor

99 ¢¢

modified by “very”, “too” or “enough”.

Very , Too, die c¥asdl ledaes of Sas Vs L L)l of oSay Y imy "complete” Jie z 5l AL e ) oS8 Cldall Glany
enough

Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify count

nouns. They cannot modify mass nouns.
33 same ) elan) Jaxd ol VL83 samal) elans) Jaxd O (g (Gana / aS) aaadl 5 (A0 / Jash) JSa1 Cauad 3l cilial)

e.g. This is a big building. (INCORRECT: This is big water.)
s> = big

dania dlaa =3 5320 ol = e = building
aibla dlas = 050e e = Jilu = ¢l = This is big water ¢!
Function of Adjective Phrases

1) Complement of Subject +BE- cluall J2dll + Jelall ALa&3))
e.g. Ahmed is very intelligent.

1m0, Aadl alan)
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Jeld Ahmed =

(Alaall oda b sl Jod 4ga 0¥ ool dlaall 038 8 4t 5 (K1) ac s Jad]s =
4ia 55 ke Very intelligent=

Jsai Haile ddaall o JAAKMeEd i adead) (Jre JaiS aleSill puzmia J¥ | ] OS5

2)Complement of Direct Object

e.g. He found Ahmed very intelligent. (He found Ahmed to be very intelligent.)
: d.ub.d\ JEA L;

Jeld = He

J=8 =Found

b 4 J g2éet anl = Ahmed

ol 4 J sndall ALeSS + 4ndia 5 jle = Very intelligent

e daal o Cali€] 4l 5 jie seal aa 5 431 He found Ahmed very intelligent .. b aleall Jisa s

L33 ) ey haa IS s Jad€ 5am 5 430 A ASSD Cali€) 4l (e y alea) e Y 1 Sy He found Ahmed Jsis iiled

3) Pre-Modifier in a Noun Phrase
e.g. My very good friend is coming to visit me.

Gl QB

Jia = My

4ia 55 e = very good

o0 + and = friend

L leddly ada s jle o (g siad 4l 5 e = My very good friend skl

e 65l | adaass e = very good sseall o lall (81 dsend s jue " My very good friend" s xSl o jlall sy
aia 5 Ja

. friend as¥) Ji Cela LY friend awY) Glae very good 4uiea 5l 3 5Lall

4) Post-Modifier in a Noun Phrase
e.g. We must find the person responsible for the robbery.

oAbl alesl) 8

o) + 4saul 3 ie= the person

o1l 3aY Jaxs + 4 = Responsible

him _seall aai g the person responsible for the robbery Wl s jlall juas jas

We must find him

5) Head of a Nominal Group — esY! 4 seaall il

An adjective can be the head of a nominal group in the following special cases:
"o " 4 ) Aalall SV gl Ao saall Mol 1T maal (Sas ddiall
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a- with a number of adjectives that refer to a class of people.

These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead... etc.
include: blind, homeless, poor, wealthy, young, elderly, living, dead... : Ji <l

o e Aea 18 e gl aill) ol

COsan Y el Gl (e 4 sene L i Aleall L laadig W acl = blind

" iall 1 G (e de gena L ali dlaadl 8 Waadtis Wl Al J 3eY " 2 pie =homeless
Mol Jall" el (pe de sama Ly duaii Alaall 8 laadiui L, =poor

The following are examples of nominal groups with an adjective taking the place of the

head:
Akia Led el 1 S Al Cile gane AN ALY

We gave money to the poor. ;
(the class of people who are poor- !_adll )

=42au¥) alaall / The poor= il + 4aall Poor

The wealthy must help poor people in our society.

(the class of people who are wealthy- LY
wealthy = ol )l + 48l / dleadl 8 Jeldl) + "dpanl 4e gana " 4aul 3 e = The wealthy

The young are our hope for the future.
(the class of people who are young- ¢l Jliua = ludll)
young = o/l + 4éall / The young = " 4xes) 4o sana " asan) 3 jluall

b- A few adjectives referring to abstract ideas.

s i 5o = 53ma 588 ) a5 il iy
The unexpected happened.
The unknown is frightening.

¥l de ganalll ul 1 oa (ialSll o385 JSE LY Lewaal aidains ¥ " unknown / unexpected "< il Gllial
a5l b

ane Ll ola s dpan) de sanall Gl Lia 4 5 4pau) 5 5Ll Jalay el unexpected = 4iall / Jelé = The unexpected
The

(The 22aal Ll ela s el de ganall (ol ) L & 5 43auY) 5 5lll 8 Cels unknown 4dall / Jeld = The unknown-

c- Adjectives that refer to the people of a country. — alll (i (e paldd) ) 2 g5 ddia
The English are very polite. (the people of England)
e de sanall Gl ) = English daall / au) + Cay i 810l (e O 585 4gand 4 e + Jelé = The English

ikl A gy I alASY) = Sl Caal 4

The French are very interested in fashion. (the people of France)
AsanY) de sanall Gl = French daall / sl + Gy 3180 (e () 5S35 dpensl 42 ga3a + Jeld = The French

L 8 3 sy ) Galai¥) = s @l Caual a g
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Exercise

Identify the function of each of the underlined adjective phrases
below. a. complement b. modifier in NP c. head of NP

1.The driver responsible for the accident paid the fine. =b
2.The driver was careless. =a

3.He is a careless driver. =b

4.The police found the driver guilty. =a

5.The elderly must be respected.= ¢

Lecture 9

Adverbials (Adv)- —_nzll
An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.
A pas e oA b gl (Ka Adv @ ity | Gl
An adverb is a word like “here”, “tomorrow” and “quickly”” which we can use to say where, when
and how something happens.
O sl Ga S 5 e g il g gl aadid 5 "quickly - tomorrow -here” Jie 44lS 1l
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It can also express other meanings like frequency, degree... etc.

"4, - degree™+ " LIS Jase — frequency” Jie s Al las s of Lead (4

An adverbial phrase is a group of words that does the same job as an adverb.
Ldlall Jae (i Jard gl Jlad) A g (ai L) CilalS e gane o2 A8 5k 5 5Ll

Adverbials include:- Jeii a5 pzll

1- Prepositional Phrases (PP)- »sasll 5 Jall 3 e
e.g. We were waiting in the lobby. (adverbial of place)
in the lobby=pp="_sae 5 Jla soke= (o)) OSe g @l iy (ISe e
A a=n

Maa 5l (e 435S 4pen) das =NP = the lobby
O e by sy O capb a5 me 5 s le = inthe lobby

2- Noun Phrases (NP)- 4xeu¥! 3 jlal)
e.g. I will visit my uncle this afternoon. (adverbial of time)
"ol D 3" e (e @l LY gle ) i Bela L 4pen¥I 3 Ll = NP = this afternoon

3L anl (& = this
Noun = afternoon

3- Clauses including: ¢x ¢ sS5 Jeall
a- Clauses with a Finite Verb (finite clauses) - (333l <l jlall) 2 g gl s se2i 5 caana J2d aa &l e
e.g. We need to leave before it is too late. (time)
el - pad il -3l e et finite verb -2sw Jad = s

Ba0nk Alan el ddaa Jad Led Alaal) IS
" Okl Capla A e dlea g8 — (e e s before it is too late 3kl
b- Infinitive Clauses (non-finite clauses) — (333« ) 3 jlall) jaadll 3 jle
e.g. | am playing to win. (adverbial of purpose)
[Oe oS3 33yl B )bl = non-finite clauses 41 s_obke @bl JEaI 3
Subject + helping verb+ verb(ing)+ Jy<as
. Aaddi el Gyl Ua a5 to + base form of the verb- To +d=éll (e (8 Haadll = to win
c- Present Participle Clauses (non-finite clauses)- (s33s« ) 3 Lall) Jeldll aul 5 jle

e.g. He ran down the road, breathing heavily. (manner)
sl gl Gyl Cela g jladll (e 30 Jeldl) aul 3 5le = breathing heavily

Exercise
Identify the form of the underlined adverbials.
a. NP b. PP c. finite clause d. non-finite clause

1.He visited me in my house. =b
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2.He is studying to pass the exam. =d

3.Ali has an exam this morning.= a

4.1 will give you my homework after it is done. =c
5.They walked together, smiling widely. =d

Adverbials (Adv)
Many adverbials are adjuncts; they provide additional information, are part of the structure of the
clause, but are optional. Adjuncts include adverbials of:
" ledda S " agilial 4] Aleall S 5 A lal e e a5 Alial daslae = @il 5l a1 (0S8 g uall iany
s Sl e ) gill / a5
. Place (position) 4= ;) o\all s b -telling us where — & (e.g. in the hall, there)
. Place (destination)- (4&>5) oSl <o,k telling us where to -cl ) (e.g. to the door)
. Time (when)-(«) ol 3l <@ ks telling us when- i« (e.g. at nine o’clock, today)
. Time (duration)- (s3) ole 3 <o ;% telling us how long - »3% (e.g. for 10 days)
. Relative time — < 5lb (slxia s,k telling us how long ago <8 ! ¢ (=s &S (.. just, still)
. Frequency -\ sill <a )k telling us how often ) S3ll s siws (e.9. always, rarely)
. Degree - 4>, <,k telling us to what extent s ! I (e.g. almost, barely)
. Manner - <5\ )b telling us in what way (e.g. carefully, with care)

coO~NOoO Olh WN B

Exercise
Choose the type of the underlined adverbials.
a. adverbial of frequency c. adverbial of degree
b. adverbial of manner d. adverbial of relative time
1.He always drinks tea in the morning. =a
2.The climbers barely made it to the top of the mountain .= ¢
3.He finished the exam quickly. =b
4.My friends just arrived from their trip. =d
5.They bravely climbed the mountain.= b

Note: Similar to gradable adjectives ( Lecture 8),

e some adverbs of manner can be gradable. We can give different degrees of the meaning conveyed
by a gradable adverb. The adverb of manner “carefully”, for example, is a gradable adverb.

e.g. very carefully, more carefully, most carefully

" gradable adjectives " (e Al 3 jalaally Whaas :ddaa M

Do sl dla ¢ el (e Adlide il siosal L o o aabiies | il 5o W (35S @ slul) Jadl gl 5l (g
(4dlise il o 8 Aleas O Sy = gradable adverb - da 3 Galiae Jis) 54 carefully

428 e 4a )0 — High Degree = very carefully

Cmad s (g 45 )il s )3 — Comparative Degree = more carefully
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oalddl ¥ o Al Aa )y - Superlative Degree = most carefully

Some other adverbs of manner, e.g. “perfectly,” are not gradable. _
Ala (A lras (S Y perfectly /completely @ die sl Jla ¢ 5l (any

Position of Adverbials- <kl a8 s

Adverbials can be found in three main positions:
at the end, at the beginning or in the middle of a clause.

C el 8/ da gl B ] adadl gy qual e T 8 Al gyl

1- Final Position — " 4leall Al " gl a8 e
It is very common for adverbials to appear at the end of a clause.
e.g. Thank you very much.

Thank you very much. Jie laall g b g il A6 Wle

2- Initial Position- " 4leall 30" 43lall £8 g
Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the beginning
of a clause.
The purpose of this position is to focus attention on the location, time or frequency of events and
activities.
" SISl 138 e i gall s, "IN aleadl oy (A IS g —glal) s Sl gl il il /a1 (any
a5 a1 SE o gl ol ad gl e oLV 3 gl "aleal)

For example:
I saw my dear friend Ahmed two days ago (focus on action)
Two days ago, | saw my dear friend Ahmed. (focus on time)
Two days ago ad Hlal) o jlal) CSJA CaOEA) ga g Javay DA cAAJA.L“ e opdlad) Cpllad) 2
- Aleal e 4 puall 5 lel) (S s s s

"aaal il e cul )" daal ] Gaa e aadadl @S 0 JSY1 JU

(el Ao Sl ol Al Aol I Al e le 3l il B jle LS 4] alead) & Laiy
" dd " el ¢ <X Two days ago soladl | adlal Chaad (gl daal ol Cd g é\ oLty haka

there is a big celebration. In Riyadh (focus on action)
In Riyadh, there is a big celebration. (focus on place)

"l QY Gaa e aalall oS JLY) Jla) i
Ol e 58 a5 olmy) adl dlad) I Al e Sl Cayla syl Ll ragilil) aleadl 3 Laiy
Lol e @3S In Riyadh bl " el JEis Y Gos e gl 5" WY O oLl candd

"U.AI:I)J‘ & n

3- Middle Position- Jow sl 28 sa
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Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally appear
in the middle of a clause.
DSl sy dsale Sl aaall s o e gl i) Juadle ) Sl Jlad 4 jdl) el
Their position is — SIS Lg=d) 5a
- immediately after the operator in complex verbal groups (Lecture 5)
838aall Adedll Cile sanall 3 the operator -delall 2203yl
immediately after the full verb BE.
b aeluall Jadll a2y 0 piilae
- and before any other simple verb.
ATl Jad 6l Ji8
e.g. We have often talked together. (after the operator “have”)
have talked .. talked J=dll 5 have Jalaall (e & sSE Blina dolad Ao gana (A Alaal) 032

talked =) Jadl Jd 5 have Jalaall 223 ¢ls often IS Js

We are still waiting. (after the operator “are”)
are still .. still J=&ll 5 are scluall Jadll (pa () oS 32820 Ailad de gana (A Alaall 238

waiting =¥l J2dll 3 5 are dalal) ax ela s still o s L JW)

We are very tired. (after the full verb “are”
aleall oda 3 "dla " el dia gl L " tired" dalS 5 are acbuall Jadll | ga il Jadll : dleadl 020 8
. Jad Gl dia " tired" 4elS Uad 1385 | Jad " tired" 4elS o5 Siey S

OST JaS c¥lay Sl San L 1) Jad Gl 4dia o (slad Jad = Glad Cad) | Slgie / Canlie = J 4dia = tired AalS
LAbe = G i Al padil) Jls Chuali WY L dad o) Y

OV Qi JadY) Y %) v 0 Jad se imy Gl L 1) Ing W ¢ shand | gl gla adalin O Y sl Jad il 1) Sl
LY Ui e gee (S0 e Ll Lgd meaan L Jifisdll 5 ¢ laal) 5 aalall

We still have some money. (before the full verb “have”) ‘
. Have d=&ll J3 cla 5 Still 50 JSI 5 Have .. s (ba¥) Jadll ; el oda &

We sometimes go to Jeddah. (before the full verb “go”)
g0 .. =Y Jadll Jid cla s Sometime s Jall 5. go s wba¥) Jadll 7 dlaadl 230

Function of Adverbials ——s_all cailia
Some of the functions of adverbials include: - &l i jall Cailia 5 (ol
1) Adjunct- Gl sl / sl 5l
Lo L) (Say ., daga e 4pilial e shaa Liadast Al S 51 3 ) 51 00 oo el / a5
e.g. | knew her very well.

. Jus Lgd el = | knew her very well. .. &l dleal)
.. Db ddmin J Baa Wil 4d jaall da o Lithe | a8 o4 dege 0 WiV vVery well= lus 4dS e i i
=) ST knew her W 51568 se ) ol agall pgn e Sl o) s o) g Led je ] Baa 5 anial) (K1

2) Complement of Subject +BE- acluall Jzall + Jelall 415l
e.g. That’s all right.
Aalall oda b
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That = Jelé+ cJu&\ ?’“’\
Is= aleall b ool Jad

All right= el Jzall 5 Jelall ALl + (o jua
. ALaSall W) lalinae JaiSy Y alaadl sda & i ) Jadll g Jeldl) o) | La dlesall Wials

3) 3. Direct Object — sélull 43 J saiall

e.g. They didn’t tell me why.

4) 4. Modifier- Jazall

s slal=didn’t/ Jelé =They

Jaé=tel|

il puall 44 Js2éall = peame

e 4 Js2ae = 228 = Why.,

Adverbs can modify nouns, adjectives, prepositions and adverbs.
Saldla 5. "l cldE " all Gy a L claall | sland) Josed a€ay Jlall

Phrase type
o bl & 53

Adverb as pre-

modifier
Gl 2aeS | J)

Phrasal verb—
o jlall

D._\A w\)j\ tj_a
Jsaadl
PRI

Adverb as post-

modifier
Y Jara & JW)

Noun phrase

Nearby

Hotel

Noun phrase

Way

Ahead

Adjective phrase

Completely

New

Adjective phrase

Quick

o
o

d8n
L-TO=

Enough

Adverb phrase

Very

Often

Ja

Adverb phrase

Quickly

Ja

Enough

Preposition
phrase

directly

Through

).;&_h‘);

Exercise : Identify the function of each of the underlined adverbials.
a. adjunct b. complement c. object d. modifier
1.Are you absolutely sure? = d
2.The child followed his father very closely.= a
3.He told him when to come.= ¢

4.The show ended very quickly.=d
5.1t was all right.= b

Basic Types of Clause Structure

Lecture 10

In making up a one-clause sentence in English, we have a choice of five basic clause

structure types in which all the elements are necessary.

CAg e ealing 558 Alea af il il sl 0 Lal | 4y ks aslll 841 KM Les aial
These basic types can be expanded with other optional elements like adjuncts and modifiers.
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¥ anall 5 Gal sl S o a3 LAY juabiall ae Lprms 53 Of (S Al &1 5391 028

Each of these five types follows the basic pattern:
Subject (NP) + Predicate (VP).

DS oSl il o o M aglad o e 4 dend B le M sa s S
Gl 4s Jsnia o) AalS3 ) 4ilad e sana ()5S (Sae= Predicate

In each type, the subject will normally come first and is the followed by a "verb phrase".
"adll 5 e aniy | Yl g punsall (o g5 el 3
Only the composition of the VP changes in each type.
Lo ¥ delill = deldll s jle (nsSidais L

The VP may contain the following elements:

A jealiall e (5 iad o oSar Aladll 5 jlal)
1- Intransitive Verb (abbreviated as Vi) - (p0¥ J28- Vi)= 4 J s28e (90
2- Transitive Verb (abbreviated as Vt) — a2 J=é Vi _
\ Ditransitive il 5\ Monotranstive sy =

3- BE or another Copula — Ll Juxél 5 3ac Lusall Jady!

& _is.am are were
"l sl dsmial 5 dla sl ddiay Jelil) day i1 saclue JadY) = day ) Lgan) (e day )l Jladl
Ja=here Jxé=ijs Jeli=He
4- Complement (abbreviated as C), which includes: - C <8~ jlaial o alasil)
a- Noun Phrase (abbreviated as NP) - (ALl ¢ 15 (e g 55) = NP daasl) 3 L)
b- Adjective Phrase (abbreviated as Adj)- Adj 4= e
c- Adverbial (abbreviated as Adv)- Adv — a8 le

5- Direct Object (abbreviated as dO) - (dO-_iluall J s2iall)

6- Indirect Object (abbreviated as iO) — (i10- il Ll J saiall)

The following table shows the five basic types of clause structure in English:

Type Structure of VP Examples

1 Vi ao¥ J2é + Jeld = 5, We waited.

i JeSa dlidnin g g i + oY Jad + Jeli = b, We sat down.

b. C (Adv)

BE + C alaSa el 3 jbetaclus J=é + Jeld =3, He was my friend.
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a. NP (J2dll 5 Jelall

Jelall alaSl) asiataclne J28 + Jeld =h, He was intelligent.
b. Adj (J=4)

Jelall alaSs) ja 8 jbetaclie J=d + Jeld =c, He was in my class.
c. Adv (Juj_?\j

Vt+dO + aile 4 4l sriatgantia Jad + Jeld =3, | made a mistake.

a. Jsmiat gaeio JedtJeli=h | put the key in the lock.
b. C (Adv) a b et dle

Vit +i0 +dO | + 8w pe Jgria +gaeio Jed+Jeli=3, | gave him an answer.
a. (to) il J grda

ilae e Jsmda + (saatia 28 + Jelé=h. He made me a suit.
b. (for) il Jsiat

Vt +dO +C e + il gata + (gaeio Jed+ Jelé=3, | found him a bore.
a. NP (LSS )l

8 le + il sate + gaeio Jed+ Jeld =hb, | found him boring.
b. Adj (4laS5) s

A salasy) aalll 8 5K dadd) oLl g ) il e gy AU J gaad)

+ As we mentioned at the beginning of the lecture, each of these t
ypes can be expanded with optional elements like adjunct and modifiers.
L anall 5 il Jie Ay HLia) uabic ddand g Wi 55 (S #1581 038 (e g 53 OS5 pealaall Dy 6 Ll LS

For example,
we can expand the first sentence in Type 1 as follows:
(Y g sl 8 Y Aleal) des 55 adatis

We waited. (Type 1)- we waited = Js¥) ¢ 5
We waited in the car. (Type 1 + Adjunct)
- Aage g adla¥) oda () allaly Aleall i 2 = i+ J5Y) ¢ 5 = We waited in the car

Simple sentences have only one clause. They can be expanded even more by combining
them with other clauses as we will see when we discuss compound and complex sentences.
5 8Maa Jan (o3 a0 5 A) &) jlms Leday p Jaall aa g (K |, i aaly S =5 jbe e (g gia Aasal) Alaall
o AS e

#Be careful not to confuse these five types of basic clause structure with the five types of
complex verbal groups that we discussed in Lecture 5.
Baiaall ddadll e ganall Jasaddl £ 50 | l) 5 ISI (o oS8 dsaddl o) 50 028 aSale Talias () (e | sl

For example

the verb “tell” can fit into basic type 3, as seen in the first example below; and it can also fit
into basic type 4, as seen in the second example below.

S JEIS )l bl g sl oy Ll Sy L J oY) JUEally Jaadls Le e, G ulaY) g i) iy tellJadll

e.g. 1. He told the truth. (Type 3)
L Jsriall galal saxie JaiS " told" Jadll ela |, G ¢ i) =He told the truth
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e Jsade = the truth / g J2é = told / Jelé = He

e.g. 2. He told me the truth. (Type 4)
. gaia JafS " told" dadll els |, &l )l & 53l =He told me the truth

28l Jsnie = the truth / Jdle e Js2de = Me [ gaxie J2d = told / Jelé = He

On the other hand, the verb “explain” can only fit into basic type 3, but not basic type4.
rdlie 1 a1 el g il i Le 81 AN il g il iy explain” Jadll L

For example:
e.g. 1. He explained the answer. (Type 3)
.. &bl ¢ sl = He explained the answer

il Js2i = the answer [/ s J=é = explained / Jel = He

e.g. 2. INCORRECT: He explained me the answer. (Type 4 is not
possible with the verb “explain”) ‘
il e 5 pilae Gl srdae Lo ()5S) iy La LY L al Ll g sill) Led andlin adila

Variations of Basic Clause Structure Types - Alaall 4yl cludl &1 55y <ol yuil)
Common Variations of Basic Clause Structure Types

1- In type 1, “there” can be used as an introductory subject.
SHVi = o) Alaall o€ i el padind 4aS J5Y) g il A there 4alS
e.g.
Three exceptions exist. (Type 1)
"o Jste ZUsy Y " gamie e Jad= Exist / Jeld = Three exceptions

There are three exceptions. (Variation of type 1 using introductory “there”)

The pattern in this example is: There +BE + Subject
Jalis lxi = three exceptions / aclue J28 = are / 238k 3w = There

There +BE + Subject @ Jiall 131" ¢ il " L

2- “There” can also be used as an introductory subject in a variation of type 2.
Sl g sl 8 "antia Jeld" antia olaineS Loayl a2diud o) (Say There 48

e.g.
Some books are on the shelf. (Type 2)

Ua Ala 25" H5me ) " Jia = on the shelf / xlus J2é = gre / Jelé=Some books
(S+BE+C) : g sl 13 ol
There are some books on the shelf. (Variation of type 2 using introductory “there”)
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Alis Ixin= some books / aclue J28 = are / "adiie Jeli" auiic ldise = There
La dleSa a5 " )5 me sola " Js = on the shelf

3- Type 2c, can be reversed when the adverb is “here’ or “there”.
there sl here .. Jall G131 "JlA Jawe Jeldl" 5 "Jelal) Jawe Jall "daas o Sa

e.g.
Mohammed is here. (Type 2¢)
Here is Mohammed. (Variation of type 2c)

. A& a5 Ja = here / 2elue Jad =js /" Jeld " lxie =Mohammed

AL Jla sSo of (Sa 5 S+ BE+C ) sa La e gl (sl

There are other variations that we will not discuss here.

Jalis fxie = Mohammed / aelus J28 =js [ aaiie Ixie =Here

Lecture 11

In the previous lecture, we discussed the five basic types of clause structure.
Each part of the structure of a clause can be duplicated (doubled) or added to by

Coordination. |
Alaall 3 jladl ol diseddl L) £ V) LutBls A8l 5 jualaall &

Aduie Alaall 5881 Cilian (6K 1 "o 05K OF Sadd) e Aleall el o Jal (e s 3a IS
For example, the subject is duplicated in the following sentence:
4l aleall 3 Caelina Jelill 1Dl
Mohammed and | are good friends.
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The two parts of the subject in the previous sentence are joined by the conjunction “and”.
"and" Ly slals b s e 5 cielias Jeldl) | bl JU &
.05 e clinal Ul 5 dana
(I -Mohammed) L (i ja Uilay . JUal) 128 3

Conjunctions are words like “and,” “or,” and “but” which we use to connect grammatical

units/elements in a sentence.
Alaall jealic Jay y 233503 "gnd, but, or" el Cag s

If we combine more than two parts, we usually separate the parts by commas, using the
conjunction to join the last two parts only.

Ly ) "Cadaall o oyl slal aadia s ) Lpazany (e el 3aY) dhadl | " ALA)" andi dlaall (8 ol e (e ST Uiy 13
8 0l 5 A

dena s e dayy Gy Ledan i "L o2 e dall 5 dea sty LS T 6 el Juai aleall b slaad Lnie IS 131 ey
"Lge 5 agd allA ¢ dana ™ | Ja8 lgmand (5 & yig Mse g8 AlA

Mohammed, Khaled, Fahad and Moayad

e.g. Mohammed, Ahmed and | are good friends. -
(and) sa 5 ahe Cayn cpl ja JAT Uy, 5 alaalsy cpl s Jisl (g Ul

Types of conjunctions: - Caball Cis s &1 il

1- Coordinating Conjunctions (coordinators)- :ciiwiall ey (4all) diwiall Calasll Cag a
These are single-word conjunction, including: “and,” “but” and “or.”
"and”, "but ", "or" Jedis 53 ske layy SlalS 8 s
e.g. | want Ahmed and Saleh to come see me. — is) elels a5 aeal (e i Ul
e.g. | want Ahmed or Saleh to come see me. i) sla =lla 5l sl (e 2y )i Ul
e.g. | want Ahmed but not Saleh to come see me. 55 b o)) mis al (K1 aaal (e 2y )l L

2- Correlative Coordinating Conjunctions - ae;Maoll kulg JI .
These are pairs of words, including: “both... and...,” *
only... but also...”

99 ¢¢.

either... or...,” neither... nor...,” “not

ey, 4l ClalS o dal 5 1) o3a
“both... and...,” “either... or...,” neither... nor...,” “not only... but also...”

e.g. | want both Ahmed and Saleh to come see me.
s slela mlia sl e Ay 5l = Both ... and =S ¢ ... 3
e.g. | want either Ahmed or Saleh to come see me.
= gyl Sh ol wlla sl 2eal W) &l = either... or = il
e.g. | want neither Ahmed nor Saleh to come see me.
s S o gl Y5 aaal Y 2 51 Y = neither... nor...,=
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e.g. | want not only Ahmed but also Saleh to come see me. |
i3l T o lla Lad (15 2ani dad Gl 3 =not onlly.... but also...= L (815 Jaié

3- Subordinating Conjunctions (subordinators)

4- Correlative Subordinating Conjunctions

We will talk more about the last two types when we discuss Subordination in Lectures 12
and 13.

WY Jh @l palaall b Lgie i
Exercise : Choose the type of conjunction in the sentences below:
a. Coordinating Conjunction b. Correlative Coordinating Conjunction
1.My brother and sister went to Dammam.= a
2.They are both polite and friendly.=b
3.1 not only like swimming but also diving=b.
4.1 like swimming but not diving.=a

We can compound/coordinate any level of constituents (grammatical units) - words, phrases
and clauses.

Ol ey il lall 5 Gl (e (5 ginn (g day i s
e Coordination of Words — <eISl) 5.
Coordination can link two or more words of the same word class as in the following
examples:

allal) Al | 2l s e SIS0 ) i€ day 53 i)
Nouns:- a
e.g. Football and basketball are my favorite sports.

a=l = basketball / o = football

(and) " L " Calaall o GpanY) Uiy

Adjectives:- 44a
e.g. My friend Khaled is funny and intelligent.

4i4a = intelligent / 44= = funny
(and)" Ll " Calaall (s jan il Uiy

Adverbs:- Ja

e.g. We must finish our work both quickly and efficiently.
Jds = efficiently / J= =quickly

.(both - and) a3 oy ) <oy Jal) Uik

e Coordination of Phrases — <l jlal) (g
Two or more phrases of the same type can also be linked together through coordination as in
the following examples:

Al 4Bl 8 LS e aladiuly g sl (i e ST ) i lae day ) LSy
Noun Phrases- 4! s jlae
e.g. The old man and the young boy crossed the street.
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Y 4l o 5e = The 0ld man
s,kadl Galy = Man / ol il Jaee = old / il Gl Jaxe = The
4l B)L.udb. é}‘}“ a‘)l_.ud\ C\Jag) L'.’J Blal = And

Y 4.l s ke = the young boy

) = boy / Gl e = young / Gils Jae = The

Verb Phrases:- 4ulzé s jle
e.g. Many of the grammatical terms must be studied and will come in the exam.

v aul=d o jle = must be studied

Js¥ g sl = Type 1 = saas + 250 = Modal +Infinitive = must be
Infinitive = be / Modal = must

&N g 8l =Type 4 = Jeldl) aul + 2l 28 = BE +Past Participle =be studied
Past Participle = studied / BE = be

Al 3 lally (A1 o jlad) culay y day ;3131 = And

Y adsi s ue = WIll come in the exam.

Js¥l g sl = Type 1 = aadll +J3 5« = Modal +Infinitive = will come

come = Infinitive / Modal = will

Adjective phrases:- 44a o jle
e.g. The topics are very interesting and really useful.

) 4aa 3 jle= very interesting

4= Interesting / Asall sl Jaxe = s = very
4l 5 Jlally 1) aiall o jlal) gy Jay 5 300 = And
Y dda 55 ke = really useful

= yseful / Aaall Gle Jae = Js = really

Adverbials:- Js 3 ke
e.g. You can wash your clothes by hand or in the washing machine.

\ J= s =by hand
af}m\ﬁ)lf\szﬁu\zhand / Pup:by
4l 3 el oY) o jlall cuday L day3lal = or
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Y J= o ke = in the washing machine

A <a=in

4aul 3 ke = the washing machine

ol =Machine / 4ia Gl Ja=e =Washing / i Jase =the

e Compound Sentences- &S yall Jaall
Coordination of Clauses — Jeall (gaui

A compound sentence has two or more clauses which are linked by a coordinator.
L) @l ) Al 5y sy a5 55K (ilen Led A0S jall dlaal)

All of the clauses in compound sentences are coordinate. In other words, they are of equal
rank. None of them are dependent on (part of) another clause. They are all independent
clauses.
dea e s 0a gl Glo aaiad¥ Ll (gl Altina ™ K0 " cpilaall SIS, My <l ol M ada g e L 4Sal Jaall (B 55SH Jes paes
TEN

The following are examples of compound sentences:
e.g. 1.( Everyone was in the room) and (the doors had been closed.)
(and) = Ly by Giileall Uiy

e.g. 2. (Everyone was in the room), (the doors had been closed)( and latecomers had to wait
outside.)

(and) = L slaly LA 5 Al Alaall Uday y5 (¢ ) Al Alaadl e (V) alead) Uilias
aloalally alagiuid | ol ) Gl S0 alea g alea IS 0 adile And .. ooSSe Il U Y L 4l 8 BY) aleald) o aleald Lidas
e.g. 3. (Some students didn’t do the homework) and( the teacher knew), but (he didn’t say
anything.)
< (4) Wl (but) = Loy slaly AAN 5 458l aleall Ghay 55 (and) = da 312k 4l 5 V) dlead) Uy
¢ OSall 5l aliald ¢y 50 But o LS Lo " Ll alald” Uias 5 But Lishas (i) b

Lixa 9 ‘.\A} . s20loia ‘L&AA LS‘ CL\MLA} LQ.JA}X (Sj"} )SAA ‘\..‘AA JS &5“"" " )_\_\.XS.\.\M” ().LAAA > " ULJ\ 9 AJ_J\ ).UXAL‘ > | u‘y-\
aleall 4 OY +.. ) Sie ga oyl ) ey Calide 4glil) 5 oY) alead) 8 Jaol Sl Y ALalilly WlES) axe 5 But - Liea g cass -
st i ol aS] | Coay aleall () L 4l aleal) aa il L 43I0

e.g. 4. Either (he didn’t bring the book ), or (someone took it from him.)
"ok " adlaial L+ Gailitee cpilead) ()Y Or J8 dliald L g | Alialds 48 gue (or) = day ) 3ol Al 6V dead) Uy

Ch WL el sl

e.g. 5. (’m selling my car) and( (I’m) buying a new one.)

(and)= Lo 3laly cpilead) Uy
e.g. 6.( Mohammed is going on a trip for a few days), (but (he) will be back before
Saturday.) _
. (but) = L 3laly (pileal) Uiy
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e.g. 7. (He may have received the letter) but ((he may have) forgotten to reply.)
. (but) = 1 3ok cpileal) Uiy

As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same person
or thing, the second subject can be deleted. We can also delete the second verbal group if it is

the same.
AN Alaadl e ddds (e cilead) 8 padlil) (il Jadll / Jeldl] 2 ey Ladie V¢ 0 4BV 5 5 S

Exercise
Decide whether the following sentences are:
a. simple sentences b. compound sentences

1.My neighbor and his family are going on a trip.=a

2.My neighbor is going on a trip but his family are not going with him.=b
3.Either I lost my wallet or someone stole it.=b

4.The wallet was either lost or stolen.=a

Exercise
Decide whether the subject in the second clause is:
a. Optional (can be deleted) b. Obligatory (cannot be deleted)

1.My neighbor is going on a trip and his family are going with him too.=b
2.My neighbor is going on a trip and he will take his family with him.=a
3.Sara will study hard for the exam, and she will try to get high grades.=a
4.Sara will study hard for the exam, and Maha will do the same.=b

Lecture 12

Subordination- (4lfiue yall) 43 I Jeal)

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture
10, and compound sentences in Lecture 11. In this lecture, we will discuss complex

sentences.
5 (Ve o alaall) Anlull ) pualaadly ddaged) Jaadl Widliy | (B A4S e dape | den ) () amii Jeadl o A5V 3 jualadll 6 LG
Bainall Jaadl (il o jualaal) 383 s (1) o juabaall) 48 yall Jaall

A complex sentence- 48 all Jaall
has two or more clauses joined by a subordinating conjunction. At least one of the clauses is
subordinate to a main clause.

(liniall) Jas N g pa adand o Ada g e, ST (O5)cpilen e (g gins
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A main clause- (diuall) ases )l Aleal)
(also known as an independent clause) is a clause that can stand alone as a complete

sentence.
Jean ol Zlis3 ¥y | aldlS alaaS o o) 5 o aodaias o | Alise Lgansd (o alan (& 5 (Aliiusadl 50 = aliiid) aleall) Lagl aus

. e i g Al

A subordinate clause- 4l&iua ) aleal)
(also known as a dependent clause) is a clause that cannot stand alone as a complete

sentence.
A alas ) 2las s alelS aleaS Was o I of adaiod W ales a5 (Altie el IS0 = alitall el aleadl) Load s

A clause can be subordinate by being able to do one of the following:
Sl Jany (aliise ye = oailuse= 43 50) ()5S of aleall (S

1- replace an NP in the main clause- (4xbw¥l) 4t alaall 8 g o jlal) Jlasinl

e.g. Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object of
the verb “see”.

Everyone could see it
W&dj@w\ajhcu.ajmdquA\w\

see Jaill 4 Jspie a5 pen =it/ Jxdll = see
(that) he was frightened — sllagiuld (5 536 H5IS) jt el Jayi | (Aliless ye = 4996 = a1lue) alen 0 5S5 il

a5 a5 (Everyone could see aluyl o juall) o aciad aliius ye 435 alea = K : (that) he was frightened
see daill 4 Jsnia & L Lgitn s Ll ol L it sl 4dna

2- modify an NP in the main clause- (4liiuall) 4pes )l dlaall & 4ranl) o jlanll Jaaas

e.g.

| often see my old school friends.

| often see friends who were at school with me.

The subordinate clause “who were at school with me” is called a relative clause. It functions
as a modifier of the NP “friends”.

| often see my old school friends.
.. 4zl o je 2 my old school friends s_bal)

. my old school friends 4w 3 all Ll ) =head = friends
Wb Jare = ol Jamg al= school [/ Bl Jas = 4da = old [ @b Ja2e = pea = Mly
" friends” ool U 4l ¥ aee LS 238 anan 3

friends oV W Jaa3 (subordinate clause =4litue e IS alany) leasen C¥anall 028 Jlasind abainsg
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Al o Ll Jaxd 518 i ) saw= "who were at school with me" Jiius 3¢ 55K 5 “my old school" 4wy o jlal) Lilagiula
.main clause = 4liius daa = (] often see friends)

Jaxi 5 Al aleall 4 55 Ui 4liivee sl aleal) 5 subordinate clause= 4liiue e dka= 5K = (who were at school with me)
"friends” o)

M friends” Gl Jaand Ltk g5 abaiall Alaslly _ans " who were at school with me"4; sl ilesll

3- replace an adverbial in the main clause- 4ww¥ o jlall & (Ca_pall) Jad) Jlasiul)

e.g.

| met Ahmed twenty years ago.

I met Ahmed when | was at school.

The subordinate clause “when I was at school” is an adverbial clause of time. It functions as

an adjunct in the main clause “I met Ahmed.”
I met Ahmed twenty years ago.
Ol M ks = twenty years ago

» adverbial clause of time. 45 "(when | was at school) U 55" | "twenty years ago Jbe 3l <o "Jladu) ot
Aedia (e i LR b I seal (gla (e 4gdlial e slae Liax " adjunct "

A subordinate clause is usually introduced by one of the following:
- adlil) LYY aal sale Leba 4y 6N alaall
1. a subordinating conjunction- :4; sl Calaall Ca g~
when or that :Jis
2. arelative pronoun- Jasll jilaca
who, which, whose : Jis
Compare:
1. a. He was frightened. (Independent Clause = 4litus alas)
s ol Sl o LeiSay g alaa ol ) Zlins Y
1. b. that he was frightened (Subordinate/Dependent Clause= that)- i L3y aliiue je ales
s Al el el e )l

2. a. I was at school. (Independent Clause=4l&iuws 4laa)

2. b. when I was at school (Subordinate/Dependent Clause= When < g3y dliiie e alaa)
Al Alas el Al 5 8 ) 2 liag

Examples “1.a” and “2.a” are independent clauses. They are . complete sentences by
themselves

not Examples “1.b” and “2.b” are subordinate clauses. They are be added to . A main clause
must complete sentences on their own*“1.b” and “2.b” if we want to make a complete
sentence from them

Exercise : (n <

Decide whether the underlined clause is:

1- 1t was obvious to everyone that he wanted to leave

a. dependent b. independent

2- He wanted to leave and this was obvious to everyone
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a. dependent b. independent

3- My friends came to visit me when | was in Dammam
a. dependent b. independent

4- My friends came to visit me, but | was in Dammam
a. dependent b. independent

Subordination:-4l&iue el Jeal)

Types of Subordinate Clauses.. &5 Jeall ¢ 5

1- Noun Clauses_ 4! aleall

2- Relative Clauses —Ja sl laa

3- Adverbial Clauses-(dls) 4: jall alaall

4- other- s _al (conditional clause-4sb il Jeall / result Clause — 4asidll 4les / purpose clause 4les
dba

= We will take a look at each of these types in the following sections starting with noun

clauses
s aleally oy JUI 6 5l 8 e ) sV 030 aaen (5 i

Noun Clauses

We can divide noun clauses into that-clauses and wh-clauses.

A that-clause begins with “that” and a wh-clause begins with a wh-question word, e.g. what,
who

(that-clauses = that = 125 ) Jeall / wh-clauses =Wh. = fa 3l Geall)aand (1 dpanst) Jaad) apsii li€ay
Al 5 31 = (What where who) Jie ilalSs aleal) fag wh-clauses =Wh.= 1 sl Jeal
That 4alS; sale 4laall fas =that-clauses = that fas 3l Jeall
A. That-clauses - that 4l

A that-clause can have four of the functions of the NP. It can be:
NP Aseul) o jlaall il g (0 Ciilia 5 4 i 330 That 4les

1) Subject of a Verb in another clause — s Al alaa 3 Jadll Jeld
That the driver could not control his car is obvious.
(=1t is obvious.)

.. m‘)}\ a)L)A.“ .. d.:m‘ A Gﬁ

O 33 LY Jeli |t ¢ sSiug . It is obvious ="It" sewall o ldaw o i xSUl 5 Jels = the driver could not control his car
" the driver could not control his car" s A Jeldll

4SS = obvious / Jxé = is

Note: “That” is obligatory in this sentence. We cannot delete it.
Ledda S Y dlaall oda & " obligatory— 43 bal" That 4lS

2) Object of a Verb in another clause — : s A) daa (8 Jzdll 4 J gria
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e.g. Everyone could see (that) he was frightened.

(=Everyone could see it.)
Jad=see /| Jess=could / Jel = Everyone

Everyone could see it = it eall Allagiu) (Sayg . see J=ill 4 J 280 = (that) he was frightened

Ol @ (that) he was frightened 4sewY) alaall (Se G311 | see Jadll 43 J s2ie " Everyone could see it" ieall 8 it 4al
"ayl Lgibaca ¢ 3403

Note: “That” is optional in this sentence. We can delete it.
Ledaa LiSey clldl |4 jla) ol g dlaad) 84, jlia) Ly That 4elS

3) Complement of Subject +BE —Be J28 + Jelall 4laSs
e.g. The truth is (that) he was very shy.
(= The truth is this.)

The truth is (that) he was very shy /J%

cluc dad=js / Jeld = The truth

cadeall e JeSi o 0¥ | S o 488all= The truth is) Js& o) gkt ¥ aclusdll Jadll 5 Jelll 4S5 = (that) he was very shy
The truth is this =(this) s_LY) anb L aleSall hag aplato g

Note: “That” is optional in this sentence. We can delete it.
Ledin LiSay el 4y jlad Cand g Alaall 3 4 L) U that 4alS

4) Apposition (to nouns like “fact”, “truth”, “explanation”) — a=¥/! (e Jall

e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the
fact”. We say that the noun clause is in apposition to the NP.

sl &anl 5 e = NP = The fact
Ju = s Al 4wl dex = Noun Clause = that he was shy

O5S5 agin dhati 4alS (gl o day y @l gal ¢ sy (any Cila A5 el | 8IS dojlie 5 35S o 35S 5o jlie o) Giile ol daadla
- J 4l aleal)

et sl il Gl e QIS Cpilead) S 13 Ca g SSEL 5 agin Juald (g1 (50 Lpany A e Gilaa 6 ) g8 Jad) oY
.The fact aeu¥) 3 )ball Ju that he was shy .03 (imall (i Jaad IS gl cpileal)

Note: “That” can sometimes be deleted in this case.
LAl sda 8 Cada that 4alS Ul

Reported Speech:- Jsaiall 23Sl
can be either direct or indirect. il ne oS (Saa g il () 5S (San J gaall 22S)

a) Direct speech-_slwll J saiall 22U
IS quoting the actual words spoken by someone. In this case, we write the quoted sentence

between quotation marks (“ ).
Gadle G Al fiall Alaal) iS5 Al a8 A (an) 5l Caall pad ll) LS i J8 ay) (edlll) Ly Giaad Al agdiiall LK J8 g
wl_.\ﬁy‘ (ll Il)
e.g. The man says, “The road is closed.” (direct speech using quotation marks)
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ool Y1 Laadias | Capally Ja S (i Ll LY (ul) = 48l J 58l 23S = The man says, “The road is closed” :Jle

b) Indirect speech- il sl J saiall 23S

is restating the words spoken by someone. We can use a “that-clause” to report indirect
speech.

The man says (that) the road is closed. (indirect speech using a that-clause

ke ) S3SN J6 ey I8 That-clause paddus s

The man says (that) the road is closed. (indirect speech using a that-clause
that 4alS Leadiu) A iy jlay SIS & Wae = il e J 58 228 = The man says (that) the road is closed : Jis

B. Wh-clauses- Wh = fag ) Jeal

A wh-clause can have four of the functions of an NP. It can be:
NP 4rau) DJL.\:J\ t_uLAAJUA LJJL»A} ¢ —'EJQSWhJ‘ Jaa

1- Subject of another clause- :4sl il Jeld
e.g. What caused the accident is a complete mystery.
(= Itis a complete mystery.)

bl JUA) @
It is a complete mystery ="It" jeally alaiiui 08 + | Jeld = What caused the accident

LA = s

2- Object of a verb in another clause- ¢ &l s 3 Jadll J gria
No one knows what caused the accident.
(= No one knows it.)

No one knows what caused the accident /J%s
J=d = Knows / J=ld =No one

No one knows it = it_weall Llaius 5080 5 knows J=zall 43 J s=éa L Lgiduin 5 + 4l s e = what caused the accident

3- Complement of Subject +BE- aclus Jad + Iaiaall 5f Jelall 4Le<s
The question is what caused the accident.
(=The question is this.)

Gl Jdl 3
xclue J2é = js / Jeli = The question

(this) 3L3Y) anls Ldasius ;a5 ¢ acliall Jadll 5 aisall 415 + 4eul o e = what caused the accident

4- Object of a preposition- sl s )al 4y J sda
This depends on what you want.
(=This depends on it.)

"Jeld _\;J.\y 4.\\] " alaadl ol (; Jeld R, a‘)\.ﬁz\ (:.u)\ = This

A <ix=on /[ Ja=depends
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This depends on it = it_sealb dagind )36 5 on Jall wjal 4 J g2ée + sl o e = What you want

Exercise

What is the function of the underlined clause?
1.that no one could do itl. The fact is

a. subject b. object c. complement d. appositive

2.was important for science.What he discovered
a. subject b. object c. complement d. appositive

3.disappointed me. that no one could do it3. The fact
a. subject b. object c. complement d. appositive

4.that he made a great discovery4. Everyone knows
a. subject b. object c. complement d. appositive

5.what the manager has to say5. The workers rely on
a. subject b. object c. complement d. appositive

Lecture 13

In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked in
detail about the first type of subordinate clauses: noun clauses. In this lecture, we will cover

other types of subordinate clauses in more detail.
oe i b‘)mu\ XYY L_;J . @m‘){\d@\ ‘Q}.\L\” MJ)“}“ t).\j‘ &L\.\J&.ﬁj A_U.\L\l\ M\ t\yidpl_\.m;_} VY b‘)mu\é
A sl alaall 6 AY1 &) Y

Relative Clauses:-Jwa sl 4laa i aliaiall aleal
A relative clause is a clause which mainly modifies a noun phrase. It usually begins with a

relative pronoun: “who”, “whom”, “whose”, “which” and “that.”
JsJs " who, whom, whose, which, that .."die Juasll yilacay sale fas 5., dpan¥) 5 kel bl JS8 Jaxd ) Jeall 8 Jia ) dlea
oodo pald aladinl el 22 (e

e.g. 1. The car which he owns is very old
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(The car is very old. He owns the car.)
In example 1, the relative pronoun “which” is the object of the verb “owns”.

bl JUEal)

el 5 car Jeldll Ades Wil Liaida g s which 58 4eall 038 8 Jeadll jiam 5 Jia g3 jle Lo 53 453 dea = which he owns
. owns Jaill J =i which

Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still exists as a
grammatical position in the clause.

e.g. 2. The car he owns is very old.

in example 2, the zero relative pronoun is the object of the verb “owns”.

Alaall 8 Qg (5 il ania e (K15, "zer0 relative pronoun"= g sl 138 ey . Ulal deasll jaa Cads (Ko

e.g. 2. The car he owns is very old.
s lad) JEdI
" Jadll 4 Jsria ga La Jadll juaa s "zero relative pronoun” e dhasll jiaia 5 diay o e e 5145l dlaa 4 = he owns

"owns

The relative pronoun points back to the head of the noun phrase modified by the relative
clause. The head of the NP is called the antecedent of the relative pronoun.

(wh.» -antecedent) A (A J.AA)J‘ Prvye-) 4..53\ )4“;_\ éﬂ\ 4....»«“\]\ E‘)L:uj\ u.u\) 9 J;A}X\ 4.XAA_| w‘j\ E)L.u:j\ Q‘\JJ JA...L ijl\ Prvye]

"who" .. gl jreca 4l iy oAl "adiial " il ) sa 2 " antecedent " Q) sale (3

e.g. The man who called us yesterday has come to meet you.
(the pronoun “who” points back to the head of the NP “man”. “Man” in this sentence is
called an antecedent.)

caleadl ol 3 Jeld a5 4l 3 ke = The man
who Ja sl yecal antecedent - paiie (w5 58 5 The man 4ewY) 3 jlall Gl ) = man
.man Jelill daxa & 5 4senl dea = who called us yesterday

.man o () seds who oY " man” s il 4ul ) 5 dias e = who

The Use of Relative Pronouns:- 4uill jilacal) claladsin
a- Personal Relative Pronouns -ieassl £l el

The personal relative pronouns “who” and “whom” are used with human antecedents.
.human antecedents =glsiy! () el ) 48lall jualiall ae 233505 5 (Whom - who) die 4padd 4 jilen 4

e.g. 1. There is a man outside who wants to see you.
man e 22 = who

oY) A seds 3le paic " antecedents = il = man
IS len D) 48 alea) Joaii
There is a man outside. The man wants to see you
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e.g. 2. Ahmed, who/whom | told you about yesterday, is here. (.)
Ol ) e Allu palie a5 deal 12528 = who/whom
o AUIS plen V) Aleal) oda Jaadi s

Ahmed is here. | told you about Ahmed yesterday

deliels Y dlad) 8 Ahmed

b- Non-Personal Relative Pronouns asi sl ol el
The non-personal relative pronoun “which” is used to talk about animals, objects, places,

1deas... etc. |
e DSV (S e bl il gal) ae paiian " which " et sl ) jpanal)

e.g. | want a watch which is waterproof.
"objects " = s = dea = "watch" 4eludl 5 "watch" 4clud) e 352y eia = which

which il el Gl jaic " antecedents = <onwil" =Watch

1- Personal and Non-Personal Relative Pronouns-isass sall s iuassll Ll jilesl
The relative pronouns “that” and “whose” are used with both personal and non-personal

antecedents.
s deall g O gaall 5 L) pe p2A5S iy Auadl j g Apaddll Gl gl e ae pa35 5" that"

whose" Jie 4 jilaa o4
Lo JS a2 LAY) 5 lSaY)

e.g. 1. There is the driver that was speeding. (“that” used with the personal antecedent

“driver”)
4 dlea = that was speeding

o Y1 ) ady = el (Bl jeale e w34l i e = that

.that seall 3Ll yaiell " gntecedents = <winwedl" =Driver

e.g. 2. There is the car that was speeding. (“that” used with the non-personal antecedent
“Car”

duui Aeas =that was speeding
N Jl_A.A = n . . ‘):\..:" &Lm . tA e .o \ = . " . — that
that sl Gl juaill =" gntecedents = <@l = Car

Note: “Whose” gives the idea of possession.
-adaa D
sl alia e agay i "o 8 Cala 48l e 8 S8 ey " Whose" sl
- G i) Ca g
e.g. 1. The man whose car you borrowed wants to see you.

434 dles = whose car you borrowed
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e o JS "o S ol g (ludl dlaa o 28 S ) 25an  awd ea = whose
\Whose ill el 3lu paic =" antecedents = <unwdil" = man
" ol aalia ol " Ja ol o jadl o 3 S8 Lillae) =Whose
LGS Glea A aleadl duads jass
(The man wants to see you. You borrowed his car)

e.g. 2. We saw the castle whose walls were made of rocks.
(We saw the castle. Its walls were made of rock).

e In the following section, we will talk about the third type of subordinate clauses: adverbial
clauses.

4w dlea = whose walls were made of rocks

(e e = whose

\Whose ill paall Glu paie=" antecedents = <winwil" = castle

"aa e g siiae "l (6 "W s M e e Ao siiae Al pu o L 3S8 Lillae) =Whose
s SUIS cpilea ) aleal) Juats jass

(We saw the castle. Its walls were made of rock).

Exercise

Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clause b. not a relative clause

1. The machine which makes plastic bottles is broken.=a

2. The manager is upset about what the worker told him.=b

3. The problem is that he didn’t oil the machine.=b

V4. The worker that forgot to oil the machine is speaking with the manager.=a

5. They called a technician who could fix the machine.=a

Adverbial Clauses-s kil il
Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place
and manner

" sl " A& plall g OS5 el S ran e A lall 5IH 5 ecalall g Jlad) <l e 4085 4 juall Jeal

e.g | met Ahmed in 2005. (adverbial phrase of time=cs i 4, - L)
I met Ahmed when | was travelling. (adverbial clause of time. =<l 44 5= 4lss)

He parked his car here. (adverb of place=cisai us)
He parked his car where there is a parking sign. (adverbial clause of place =¢iall 4 = 4les)

He drives carefully. (adverb of manner="c i "« Ll Jx)
He drives as his father did. (adverbial clause of manner=" . L " <L 4 .z dles)
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Note: The words “when”, “where” and “as” in the previous sentences are subordinate

conjunctions.
A5l Calae Gaoal e 3 ke A8l Jaall 8 "when- where- as " Jie Gl bl

Adverbial clauses also have functions similar to adverbs and adverb phrases. For example,
the adverbial clause in the following sentence is an adjunct:
Laslea hei = adjunct” Ll Ltk 5 2l dleadl & Ll dlead) | 48501 @l jleall g Cag plall agilie ciilda g | Lyl Lgpal 48 510 Janl)
Meie olixinY) Koy 4l

e.g. | met Ahmed when | was travelling.

(The adverbial clause “when I was travelling” is an adjunct.)
pnlisl) Aleall 4 dlial A glan Jand L) Lgiads 48 )k 4 Alea = when | was travelling

Compare: [ met Ahmed in 2005. (The adverbial phrase “in 2005 is an adjunct.)
In the next section, we will look briefly at examples of some other types of subordinate

adverbial clauses.
A ,lda
| met Ahmed in 2005
. 4lial daslae = adjunct itk s s "aeals sl ey " (o) e Jui A )l s le = jn 2005
Other Adverbial Subordinate Clauses -:cs_al 4 )k iixs Jea

(Conditional Clause-ii ) il
you finish reading it if Please return my book

(Comparison Clause- (Guessll) adussll dlaal) )
Ahmed is quicker than | am

(reason clause (i) dikidl dleal))
| couldn’t open the door because | used the wrong key

(Purpose Clause- .= 3l dlalr)
. he wouldn’t hear the noise outside so that He closed the windows
agLiial) LY ans G Al 4gilial ; ddas Gilaa

Phrase :

J=d &g#}iﬁ\&gﬁé&f\hikgjﬁﬁ"dbcﬁc&mc@a&@m\a}.}: "L&c\}liﬁﬂﬁsi%"a‘)\g’i\"u@
uﬁdﬂ&&}"&u&a@\uy&\SM\)ALM‘):}‘)SMBJ\A&M\L&LJ}BJ;\}D‘)L\’_\M\J@MY\‘_AQLS".\AJLAUS}
"The children went to bed late" JUl JUlS Leudi o jlall (10 ¢ Ja (5555 L Jadll

"The children " & i) 4aen) Jlall (e e a0 Ll Lo e 4SS went s 5 J2d Lead 4Ll dlaal)
Clause:
Subject +verb = delis aul = Jeli 5 Jad o (5 53 () cang 5510 alaa

M e 5 e dlen (55 (a5, e 5 el g o5ind o)yt 80 4LdS Alea (3555 1y e
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Finite verb:

= G+ pdiasall = S Al =Y (i ity G /") g el bl " a3 ey A 1 aaaall Jadl)
DAl L, e o) 38 20l /MRl M dde G oty (A Gl

| am eating = JsY) (sl + 3 e 2320l + & jliae (a3l

You are eating= Sl (a3lll + aea 23l + & jlas el
She was eating= CdUll as Sl + 3 ji0 222l + ala (e )
We will be eating= ¥ pasill + gan 2320 + Jaiasall (p 3l
vs non-finite verb:

LGyl gaen 535 Al Ay o Tl padlil) gl saall o) el sty GG Y daaa ) eall

| am eating =
_ aad) gl paddl) o) iy Sl Al Aljlud AaY) aan 8 eating Jadll
You are eating= o oaRdl) g (a3 J) g dl) DAY g aal g Alla ke Jia

She was eating=

We will be eating=
"y ey G\\‘)-HJ\ " 1ad oc.\‘)m FINARN|| 3‘)...'4\;4&]\

LSB c;\ﬁﬂ: a).maj\ a)'a\;.d\

Mb%\f\ibﬂ@\

oS3l 5.3y U i ¥
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